INTRODUCTORY RUSSIAN
SECTION 1

I. STARTING A CONVERSATION IN RUSSSIAN:
1.1. GREETING PEOPLE

Russians greet each other saying: SnpéBCTByﬁTel [3xpacTByiiTe Jor 3APaABCTBYI.
The first form can be used to greet several people or one person who is older than you or has a
socially higher status. For instance, you have to use this form when you greet your professor or
your boss, your friend’s mother. It is a formal greeting. When used to greet one person the form

3ApaBCcTBYITE shows respect to this person in formal situations. You might want to address a
stranger on the street or in other public places using the polite form of greeting 3apaBcTBYIiTe.

The form 3apaBcTBYyii is used to extend a greeting to a child, a close friend or members of your
family. It is an informal greeting used in casual situations.

When you address one person in Russian, you use a pronoun “TBI” (“you” in the singular) : “TBI
3Haems?” (Do you know?)

When you address more than one person in Russian, you use the pronoun “BBI” (“you” in
the plural): “Bst 3HaeTe?” (Do you know)?

Pay attention to the change of the endings of the verb depending on what kinds of the
pronouns are used: the singular or the plural.

The form “BsI 3HaeTe?”” may also be used when you address one person. In this case the

phrase will express polite and respectful attitude to the person. The “BBI’’ forms are used to
address a person who is older or has a higher position.

“3nmpascTByit!” and “3mpaBcTBYiTE!” are greetings that are, by nature, a verb in the
imperative meaning something close to “(You) be healthy!”. You can see it easily in the endings.
The same rule applies to these two verb forms. If you greet a close friend, you will say

“3ripaBCTBYi!” If you greet your professor, the best form to use will be “3mpaBcTByiiTe!”
Russians differentiate between formal and informal styles.

Another informal and even more casual greeting is “HpIrIBéT!” (Hi! Howdy.)
Depending on the time of the day one may greet another person(s) saying:

HoOpsit gers! (Good afternoon!)
Hobpoe yTpo! (Good morning!)
HLoOpaIit Beuep! (Good evening!)

1.2 SAYING GOOD-BYE

To say “Good- bye” the Russians use “IIo cBEmaHAT” or “IToKa”. The latter is less
formal and can be used in informal situations. Informal “good-bye” TToka! usually implies that
you expect to see the person again soon.

When we go to bed or someone is leaving to go to bed we usually say: CnnoxkoiiHoii HouH!

! Make sure that you don’t pronounce the letter «B» in this word
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1.3. REQUESTING, GIVING AND RECEIVING THINGS

“TIoxasyiicra” which is often pronounced as [moskaJscTa] may be used in three
situations:

1. In the situations that require “please”, as in “Will you please? Could you please?” in English.

2. In the situations that require “You are welcome” in English, as in “Thank you for being here
with us today.” — “You are welcome” “It’s my pleasure”

3. In the situations that require "Here you are".

Use the word Caci6o (Thank you) when receiving an item or favor.

Exercise 1.1. How would you greet the following people:

1. your professor 2. your classmates

3. your roommate 4. your mother

5. the maid in a hotel 6. a cab-driver

7. your seven year old neighbor

8. your grandparents 9. a person you ask about directions in the street

10. your elder brother

Exercise 1.2. How would you greet your friends at the times of the day indicated below:

1:00 PM 6:00 PM 12:00 PM 3:00 PM 11:00 PM
10:00 AM 8:00 AM 11:00 AM 7:00 PM 5:00 AM

Exercise 1.3. Working in pairs, take parts of a salesperson and a customer. Practice buying the
following items: kode (coffee), BUHO (wine), miuBo (beer), TOPT (cake), MUPOKOK(small
filled pastry), cok (juice), cayat (salad), cym (soup)

Model: A —3apascrByiiTe! MoKHO Yaii, moxkasayiicta? (May | have tea,
please?)
B — Io:kanyiicra. (Here you are)
A - Cnacu6o

B - IMo:xkamyiicra. (' You are welcome)

Il. RUSSIAN ALPHABET.

2.1. General Information and History.

Russian has had the reputation of being a difficult language to learn, and it is indeed
somewhat more difficult for a native English speaker than French, Spanish, or German.
Nevertheless, as an Indo-European language, it does not differ all that radically from English as
you will see after you are able to read and understand Russian words. In order to be able to read in
Russian you have to learn the Russian alphabet.

The Russian Alphabet is called Cyrillic after one of the two brothers, monks, St. Cyril
(another name he is known under is Constantine the Philosopher) and St. Methodius, missionaries
to the Slavs from Byzantium. 1,000 years ago they created the alphabet for the use by Slavic
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peoples. They used the Greek alphabet and added some letters that represented the sounds which
were not used in Greek. In fact, their alphabet looked absolutely different from the alphabet we
are using now. and it was called Glagolitic. The first alphabet used in Russia was the Old Church
Slavonic and it used Cyrillic letters. It was used until the early eighteenth century in Russia. The
Cyrillic alphabet achieved its current form in 1708 during the reign of Peter the Great. Four letters
were eliminated from the alphabet in a 1917/18 reform. At present, basic Cyrillic alphabet is used
by several languages. Each language also has some letters which are specific to that particular
language. Cyrillic alphabet is used by the following Slavic nations: Russians, Byelorussians,
Ukrainians, Bulgarians and Serbians and others. Many languages that are spoken by non-Slavic
peoples, who live close to the Russians, also use Cyrillic alphabet, e.g. Mongols.

Of course, the Russian alphabet is different and apprehension about it is, in fact, one of the
most frequently given reasons for not studying Russian. This is unfortunate because the Russian
alphabet is not at all difficult to learn. Russian alphabet is phonetic, or nearly phonetic. This
means that every SOUND in the Russian language has a corresponding LETTER in the alphabet.
In most of the languages the writing is phonetic, the exception is English with its “unexplainable”
spelling.

There are 33 letters in the Russian (Cyrillic) alphabet. They are the graphic representations
of the sounds we articulate. Some of the letters represent sounds similar to those of English.
Although there are often close similarities, exact sound equivalences are very rare. The following
table demonstrates the approximate pronunciation of the sounds represented by the letters of the
Russian alphabet.

2.2. Transliteration and Transcription

Imagine that you would like to write an English word using Russian letters, you might
need to know the transliteration system to do it. Transliteration is the system of representing
or spelling the text written in one alphabet using the corresponding letters of another. There
are a number of different transliteration systems from Cyrillic into Latin and vice versa.
Nevertheless, there is no international agreement among experts on a single unified system of
converting Cyrillic into Latin letters. That's why modern transliteration tables differ a bit. Look at
columns 1 and 3 of your alphabet (previous page) and you will see one of the Cyrillic > Latin
transliteration tables. Please remember that transliteration is appropriate for written
communication and isn't a reliable guide to proper pronunciation.

We have already mentioned that Russian is almost phonetically perfect; which means that
the letters are pronounced as they are written, except in a very few instances. For these words and
phrases where there is no one to one correspondence between a sound and graphic image we
resort to transcription. Transcription is the process of matching the sounds of human speech
to special written symbols using a set of exact rules, so that these sounds can be reproduced
later. Where it is necessary the pronunciation is given in normal Russian letters between square
brackets [ ], e.g. arom [aram] - the letter “O” in the word “atom” is pronounced as “A”.

2.3. Consonants vs. VVowels

On the basis of the articulation mechanism, the sounds and, consequently, the letters are
divided into vowels and consonants. VVowels are open sounds: when articulating them, we do not
form an obstruction in the mouth cavity to the air stream from our lungs. When articulating
consonants, we form a obstruction to the outgoing air steam. This obstruction is then removed
completely or partially to let the air stream out.



Approximate|Transliteration Approximate|Transliteration
Letter sound Letter sound
1. A a [aasin father a 18. P p |rasinerror r
2.5 0 [basinbut b 19. C ¢ |sasinsmile S
3.BB [vasinvan \Y; 20. Tt [tasinten t
4.T r |[gasinget g 21. Yy |uasincool u
5. 1 a |d as in dress d 22. @ ¢ [fasin farm f
ye as in e, ye . kh
6. E e yesterday 23. X x |hasinloch
. .. [yoasin YO . ts
7.Eé yonder 24. Il i [tsasinits
8.K |[zhasin zh : ch
- measure 25. Y 4 [ch as in chess
h
9.33 |zasin zoo z i? m sh as in fish >
10. 1 : i 27. 11 |shshas in shch
ee as in meet :
u 11 fresh chicken
11. % |yasintoy y the “hard sign”, has no sound
K of its own, used to separate a
consonant from a following
12.K k as in class 28.® sound, effect is just a brief
K pause which is transliterated as
13. 11 | I as in bill (with the
' | asin love 29. b1 [tongue tip a little bit iy
- further back)
m the ““soft sign”, makes the
14. M m as mother 30 preceding consonant soft like
M + B lthe first n in “onion” which is
transliterated as °
e
11{5' H n as in name : 31.9 9 |easinbet
16. O 0 as in bottle 0 32.10 |yuasin . yu
0 10 Yugoslavia
a
1117' b as in paper P 33. S 51 lyaas in yard y




2.4. LETTERS AND SOUNDS.

In this section you will learn the following Russian letters and sounds: Russian vowels: A,
O, ¥V, " and Russian consonants: M, H, JL,T', 3, b, I, P, K, C,II, T

2.4.1.Vowels

Russian Vowels: A tA—740 (05 Y %jﬂ E—w}

When articulating the accented vowel A, the tip of the tongue is placed on the back of the
lower teeth. The back of the tongue is slightly raised. Its front part is lowered and creates a small
saddle.

) When articulating the accented vowels Y and O, the tongue is pulled far back.
: ( /% The back part of the tongue is highly arched towards the rear portion of the root
of the mouth, i.e. the hard palate (the arch for ¥ is slightly higher than that for
. (4_ O). The tip of the tongue is lowered but it does not touch the lower teeth. Lips are
considerably protruded and rounded (but not strained!) especially when pronouncing Y. The
tongue and lower jaw are tensed and motionless!

When articulating the vowel H, the whole tongue together with its root, is moved far
forward — the blade is brought near the upper teeth. The front and the middle parts of the tongue
are raised highly towards the hard palate while the tip of the tongue and its back part are sharply
lowered down (the lowered tip of the tongue should be slightly placed against the lower teeth.)
Lips are spread in a big smile!

2.4.2. Russian Consonants

Consonants «K» [ 1.

and «I'»

When articulating consonants K and I', the whole tongue is pulled back and its back
portion is arched towards the soft palate (the rear portion of the root of the mouth) creating the
occlusion. Lips are open. Remember that the outgoing air stream for Russian K is weaker than
for the corresponding English K, i.e. avoid aspiration!

Ka-Ta KO-TO Ky-Ty KHU-TH
YKY YKY-KY Ky YKYK yK Iy yry-Ty ry ry-ry
OKO OKO-KO KO OKOK OK T'o Ooro-roro ro-ro
dKa dKad-Ka Ka adaKdK akK ra ara-rara ra-ra

Consonants «b»

7= 7| and ey 77 ]
Lo | @Jz
When articulating consonants B and TI, lips are closed up creating an obstacle on the way

of the outgoing air stream and then are abruptly open. Attention! At the beginning of words, the
Russian sound IT does not have that relatively strong aspiration, which the corresponding English
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P has. When articulating the Russian IT, remember to keep the outgoing air stream weaker than
when articulating the English P.

ara ama-ma Ia amam all Iman aba aba-0a Oa aba-Oa

OII0 OMO-II0 IIO OIION OI IOII 000 000-00 00 aba-0a
yly ymoy-lly my yOym yo Ioym yOy yOy-Oy Oy yOy-Oy
HUIIA WUIH-TIA IIA WO WO [THI HOH HOU-0n Om HOM-OH

Consonants «T»,

When articulating consonants T, II , as well as H, the tip of the tongue
should be kept against the lower teeth. The articulation is also possible
when the tip of the tongue is raised towards the upper teeth — but not
towards the alveolar ridge! The blade of the tongue (the part just behind
the tip) is firmly placed against the back of the upper teeth and alveoli. The
middle and the back portions of the tongue must remain low. Remember
that there is no aspiration.

aja ama-ga aa jaa-ma aTa ara-Ta Ta aTaTr aT
00 OIO-II0 IO M0-70 UTH UTH-TH TH WUTHT HT
yny yny-ny Ay ny-ny yry yTy-Ty Ty YTyT YT
WIH UIW-IH A THA-IH OTO OTO-TO TO OTOT OT
aHa aHa-HA HAa aHaH aH yHY YHY-Hy HY YHYH YH
aHW UHU-HU HA WHUH HH OHO OHO-HO HO OHOH OH

Consonants «C»

I

C o~ and «3» 853:35_

The consonants C and 3 are similar to the Russian T and II. The tip of
the tongue is placed against the lower teeth. The back part of the tongue is
raised and convex slightly. Its front part is a little bit lower than the back
part. Remember that the whole tongue must remain low.

aCa aca-Ca ca acac acC da3a a3a-3a 3a as3a

OCO 0OCO-CO CO 0COC oOC 030 030-30 30 030
yey yey-cy cy yeye cy y3y y3y-3y 3y yay
HCH HCH-CH CHU HCHC CH U311 HU3HU-3U 3H H3HU

R

When articulating JI, press the front part of the tongue together with its tip very firmly
against the back of the upper teeth. At the same time raise the back part of the tongue towards the
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soft palate. The middle portion of the tongue is concave and forms a saddle. The whole tongue is
strained!

Jqy yay Jy JIya yia Jla aja Ja Jjiaja aj
JI0 0JI0 JIO JIOJ OJ JIYM WIH JIH JIAT W

Consonant «M»

When articulating the sound M, lips are closed up (as when articulating the sound B)
creating an obstacle that is abruptly blown up. The outgoing air stream is directed into the nasal

cavity. Lips are less tensioned than when articulating b.

aMa Ma amaM aM MaMm yMy My YMyM YM MyM
OMO MO OMOM OM MOM UMH MH UMHUM UM MHUM

Consonant «P» E@ J4FR
7

Consonant P looks familiar but is pronounced and, consequently, sounds different. There
is no similar sound in the English language.

When articulating the consonant “p”, the tensed tip of the tongue is
slightly raised and aimed directly at the alveolar ridge right behind the

“ 4 upper teeth (but not turned towards the hard palate!). The outgoing air
stream is directed to the tip of the tongue and makes it vibrate. The back
part of the tongue is pulled back and slightly raised. The middle part forms

a saddle.
pa pa Tpa alipa aTtpa pa ap py Opy Tpy YyApY YTpY py Yp
poO Ipo TPO OOPO OTPO PO Op PH IpH TPH HIOPH UTPH PH HP

2.5.\VVoiced and Voiceless Consonants in Russian

There are voiced and unvoiced consonants in the Russian language. VVoiced consonants
are those in whose articulation the vocal cords vibrate. Correspondingly, unvoiced consonants are
those in whose articulation the vocal cords do not vibrate. The articulation of the sounds K and
I', 3and C, b and I1, I and T is the same with the only difference that in pronouncing the
sounds K, C, T and IT we do not engage our vocal cords.

Consonants M, H, JI, P are always voiced. They don’t’ have voiceless counterparts.
Remember these pairs of voiced/unvoiced consonants!

voiced b r | 3 M H JI P

unvoiced I K T C

In English there are also voiced and unvoiced consonants, actually, the same pairs as in
the Russian language. Nevertheless, there is no need to draw special attention to this distinction
for the native speakers of English, unless they study English phonetics and want to know all the
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details about the sound system of their language, since in English, voiced consonants are always
pronounced as voiced and unvoiced consonants are always pronounced as unvoiced. In the
Russian language, however, the situation is different. There are pronunciation rules that involve
the voiced/unvoiced consonants. Knowing and applying these rules in speech helps students to
avoid unnecessary foreign accent.

2.6. Pronunciation Rules and Consonant Assimilation in Russian:

2.6.1. Devoicing of VVoiced Consonants at the End of a Word, Phrase or a Sententence

RULE I: Voiced consonants b, T', I, 3 are pronounced as their voiceless counterparts
at the absolute end of a word, phrase or a sentence:

caz [cat]'(a garden); ra3 [rac] (an eye); 106 [J10m] (a forehead);

JIYT [J1yK] (a meadow)

2.6.2. Consonant Assimilation in Russian

When, in a word or at the juncture of words in a sentence, there is a combination of voiced and
unvoiced consonants, the first consonant in this combination will be assimilated to the second
one, i.e. if the first consonant in the combination is voiced and the second is unvoiced, the first
will be devoiced to be similar to the second and if the first one in the combination is unvoiced and
the second is voiced, the first one will become voiced to be similar to the second. This phonetic
process is called ASSIMILATION. Assimilation can be defined as the process through which a
sound becomes similar to a nearby sound in a certain way. Consonant assimilation in the Russian
language is called regressive assimilation because it is always the second consonant that
determines the quality of the first.

RULE II: A)Voiced consonants b, I', II, 3 are pronounced as their voiceless counterparts
IT, K, T, C before any voiceless consonant etc. in a word or at the juncture of two words in a
sentence:
ina word: JIoZKa [J10TKA] (a boat); MO3T [MOCK | (brain); BU3T [ BUCK | (scream)
at the juncture of words:

IO CTOJIOM [moT CTondM] (under the table)

(noun preceded by a preposition)

JIPYT CKa3as [IpyK cKa3a] (a friend said)

( the phrase in which the last word ends in an voiced consonant and the second word
begins with an unvoiced consonant)

RULE II: B)Voiceless consonants I, K, T, C are pronounced as their voiced counterparts b, I,
I, 3 before any voiced consonant etc. in a word or a at the juncture of two words in a sentence:
inaword: cma [3mai](passed an exam; turned in a paper)

at the juncture of words:

¢ IoMoM [3 Zomom] (with a house)

(noun preceded by a preposition)

K g(;My [r néMy] (to the house) (noun preceded by a preposition)

1 A letter, letters or words in brackets denote their transcription (pronunciation) which does not necessarily coincides
with the their spelling.
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There are some consonants in Russian that do not participate in the process of regressive
assimilation. These are voiced consonants M, H, JI, P. They never cause assimilation of the
preceding consonant sound:

C Hamu, TPy X, DIym

2.7. Syllabification.

Words can be cut up into units called syllables. Humans seem to need syllables as a way
of segmenting the stream of speech and giving it a rhythm of strong and weak beats, as we hear in
music. Syllables don't serve any meaning-signaling function in language; they exist only to make
speech easier for the brain to process. A word contains at least one syllable. A syllable is a word
or part of a word that can be pronounced with one impulse from the voice. A syllable always
contains a vowel sound, and most syllables have consonants associated with the vowel. Syllables
are more 'natural’ units to analyze the spoken word than the individual speech sounds. One can
segment words into syllables more easily than into sounds, and syllables are more easily

combined into words than sounds can be blended into words.

In Russian, there are as many syllables in a word as there are vowels. There are a few
rules of syllabification in Russian. It is very important to know them if you want to learn to read
Russian.

1. A single consonant forms a syllable with the vowel that follows it:
Py-na, na-ta, 6a-0a, ma-ma, Ko-1mo-pa-no, ka-ka-ay, Ky-aa

2. Generally, in a consonant cluster, the last consonant forms a syllable with the vowel that
follows:

[Ton-ka, Ka3-Ha, MyC-TaHT, Ka-IIyc-Ta, MOM-IIa, Ia-pa-I0Kc, Mar-pu-Ka.

3. A syllable may consist of a vowel alone usually if a word starts with a vowel or if there are
several vowels in the middle of the word:

WH-1u-a-Ha, a-Ta-MaH, y-Kyc, y-pOoK, U-pHc, U-Iid, Jh-a-Ha, O-1yc

0-KO-JI0

2.8.Word Stress

Some syllables in words or sentences are stressed with more force from the voice than
others. Those stressed syllables are called accented (stressed) syllables. Each Russian word has
only one stressed syllable no matter how many syllables it contains. A student should aim at
acquiring and fostering the habit of putting the proper stress on the accented syllable without
giving any prominence to any other syllable in the word; he must not create two stress centers. A
wrongly accented vowel will upset the pronunciation of the whole word.

croa — a table (1 syllable); mamHa — a car (3 syllables);
AOCTONPHMEYATEILHOCTD — point of interest (7 syllables)
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Remember that by putting the accent on the wrong syllable you may often alter the
meaning of the word, as in the following words:

npoma (at home) - moma (houses)
3aMOK (a castle) — 3aMOK (a lock)
myka (flour) -  Myka (torment)

The accented syllable requires a higher pitch of the voice. The vowel in a stressed syllable
is slightly longer and more distinct than in unstressed syllable.

AKT-pH-ca (an actress); ma-ro-aa(a pagoda); KOM-Ha-Ta, (a room), 6yk-Ba-pi
(ABC books).

As the accent is frequently shifted from one syllable to another in different forms of the
same word or in the derivatives, students of Russian must form a habit of memorizing the place of
the accent in the word.

KapaHaau (a pencil) — kapanaamu (pencils)
nury (I am writing) — miameT (he is writing)

Single vowels or syllables before the words are prepositions (3a, y, Ha,). They are always
unstressed and merge with the word that follows them forming an additional unstressed syllable:
Ha cT0JI (on the table); y cToJ1a (near the table); 3a ¢T0JIOM (at the table)

2.9.Vowels in An Unstressed Position. VVowel Reduction.

Russian vowels, when occurring in unaccented positions, change their quantitative and
even qualitative characteristics. This process is called reduction, and unstressed vowels are called
reduced vowels. There are two levels of reduction in the Russian language: minimal (first) and
medium (second).

The first degree of reduction occurs in the first pre-tonic syllable (i.e. the first unstressed
syllable before the stressed one) as well as at the absolute beginning or absolute end of a word.
The second degree of reduction occurs in all the rest of the syllables.

For example, in the word “pencil” — Ka-paH-mam the vowel a in the syllable -paH-
has the first degree of reduction, while the vowel a in the syllable ka- has the second degree of
reductions which is determined by its position in relation to the stressed syllable -xam.

Vowels Y, A and H in unaccented positions go through minor qualitative changes; their
unaccented variants are simply less tense, and a little bit shorter.

Vowel O in unaccented positions changes not only its quantitative but also qualitative
characteristics.

For example, in the following words the vowel O is under the stress, consequently, there
are no changes in its pronunciation: mpupoaa [mpupoaa] (nature); moaa [Moza] (fashion);
napom [ mapom] (a ferry), while in the following group of words the unstressed vowel O in its
pronunciation is closer to the vowel A: ropa [rapa] (a mountain); mocka [xacka] (a board);
oHa [ana] (she).
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I1l. READING AND LISTENING EXERCISES.

Exercise 3.1. Recognizing identical and different pairs of words.
You will hear ten pairs of words. Write “+” if the sound identical and a
Listen carefully to the word-initial consonants:

1313

if they sound different.

1. 2. 3. 4. S. 6. 7. 8. 9. 10.

Key: 1. Tyr-TyT 2. cyn-3yn 3. TyT-oyT 4. pOCT-TIOCT 5. COH-COH 6. COH-30H 7. poM-1ioM 8. can-3ax 9.
caa-can 10. cron-cryn

Exercise 3.2. Listen to the following words and fill in the missing initial consonants in the words
below:

I._ om2 ok 3 ap 4. apk 5. _or 6. _ank 7. _opr 8. _om 9. on 10. _
aM

Key:1. nom 2. Tok 3. map 4. mapk 5. kot 6. 6ask 7. copt 8. koM 9.ron 10. nam

Exercise 3.3. Read the following words and phrases:

1) 6aoa, 6y66H, 6am, OaHaH, 6oM-60M, 6OMOA, oym
2) mara, ori, IoMIa, MmyI

3) arama, 3aT0H 6aT0H 6yTaH
4) TaM, TAMIIOH, TOMAT, TOM, TOH, TyT, MOT, HOT, OaTyT

5) 3amam, y1of, y IoMa, yaomy

6) 10H, I0M, JIOMHa, nﬁMa, aycT

7) aHaHAC, HAM, HOC, HY,

8) 6aHzla 6aHT TyMaH OH, COH,

9) MaMa, MaHHA, MAHTO, MAHTY, MOIIC, MYTAHT, yM

10) Mécca, MyCC(;H, cam, caina, céﬂa, céyc, cyn, cyMMa, cyMzi, cy666Ta,
ll)Hac rnac, Hacéc yc, mycc

12)y3y6a 3aH03y, MyBa 3aTOH, 3a6y)1y, aHo3a 3a3H06a 30HT, 30Ha

13) MyKa, MyKa, Kakazy, KycT, Kyma, Kyzla KOT, KOM, KACTa, Ka3yc KaKTyC,
14) KaM6yC Karlor, KaaHai KaHOH, KarycTa, 6yK, KATOK, KA3aHOK, TaK, KaK
15) rynok, ry6a, TyMHO, TOHKa, Ta30H

16) KJIOM, IJIyTI, rno6yc rac, JyK, MYCKYJI, ayJI, CKaJia, TyJly, CTyJly, IyMaJ1, OyJIKa,
17) HOJ'IKa JIOCK, J1aja, naryHa TyJ, MyJ1, KOJI, MOJI, CTOJI, 30T
18) ykos1, M, 6aJ, cTau, ycTa, cKasa, OHJl, MIJI, KYITHI, Ha JI0Y, I00M
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19) npa, Tpa, Cpa, 3pa, TPH, 1O, TPOH, ﬂpaMa Zipari, ):[paKOH 60)1p, 6apaH 6apa6aH
20) Hapoz[, pamyra, paboTa, por, po6a po3a, posra, pymoa, pyHa pyTa, pyKa, py/a,
21) 6azap, nap, 6ap, map, yaap, 3arap, rycap, 6op, Mop, II030p, CIop

22) typ, Oyp, ciopt

22) HutKa, JIu3a, UM, My, HIyT W1, MAJI, Hpa HpHHa THCK, JIMK, HCAJ, Pura,
23) MaprapHTa pH3a OHM30H, IIHaHa3OH HHHa MapHHa mHa, I, HpH6HJI y6HJI
24) 3a6mu, 3HMa CHIIp, CTIIHH, HIH, HHKaK HHKTO, 3HMHHK, THHA, KHT,

25) I‘I/IMHEI?)HCT T'ura”dT, THMH, FHMHaCTHKa T I/IMHaCT THUIIC

Exercise 3.4: Read the following words devoicing the final voiced consonants. In the spaces
provided write down the consonant that represent the correct final sound in these words:

samapm[ ],600[ ] 306[ 1,3y6[ ], Oyrya[ ] Tys] ] cam |nyn ]
cyn[ ] ma3z[ [ wazaml ] soun[ ] syn[ Lxy6[ [ Oyrl ], mycraur{ ], ron
Lragl L xnyd[ ] xnmap oyl ] a3l ] oman[ ] apyrd ],

tpys] ], mapan] ] mapom ] pan] 1,pa6l I pom I por I mm3 I,
npug] ], cHOO[ ]

Exercise 3.5: Arrange the following words in pairs on the basis of their identical pronunciation:
JIYK (onion), 30H] (probe), TPYT (they are rubbing), IJ1a3 (an eye), pOT ( a mouth), CHOO
(snob), JIyT (a meadow), KO3 (Genitive case of “goats”), pOK (fate), IJ1ac (voice), 30HT (an
umbrella), KOC (Genitive case of “scythe”), poq (tribe, family), por (a horn), CHOII (a sheave),
Tpy X (labor)

1. 2. 3.
. 5. 6.
7. 8.

Exercise 3.6: Read the following words and phrases where there is regressive assimilation at the
juncture of two consonants. In the space provided write down the letters that represent the correct
pronunciation of the two consonants at the juncture:

ry6ka] ], ryska] ], nomka] |, ckaska] ], cman] ], m3mymca] ],
kK oy6y[ ] kmomy[ 1, k6amky[ K rybam[ ], cmo6al ], u3kuHO[ ]

Exercise 3.7 Listen to the following words and phrases and determine which vowel is stressed:

1) nMpuKH, pUTM, PUTOPHKA, KYPH, TapH, 3aMPH, JIAJIOHH, MOJIOKO, 30JI0TO, YTOJI,
2) MyCKYJ1, 1OJITO, IyMaJia, AyMaJI, MyKa, MyKa, KaHOH, KaIyCTa, MPOCTO, Ka3aHOK,
3) KakTyc, aTaMaH, NManpuka, napaaokc, Apuzona, Kansac, MazaHnka, naHama,

4) Tamaza, MoMa30kK, MOTOMY, MOroja, maroaia, moJaHoc, 3acaja, 3apa3a, COrJIacHo,
5) conara, cobaka, momana, 3a3H00a, Toraa, KoJIOKoJI, KOJIOKOJIa, CyTaHa, cayHa,
croco0
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Key: 1)1,1,2,2,2,2,2,3,1,1
21,1,1,1,2,1,2,2,1,3
3)1,3,1,3,3,2, 1,2,
4)3,3,3,2,1,2,2,2,2
5)2,2,2,2,2,1,4,2,1, 1
Exercise 3.8: Read the words reducing vowel “0” in the following words where necessary:

TOHOT TOMaAT, MaMOHT MaHTO MOIIHO 3aH03a JIOHOC, Hora HOpA, HOMa3OK
nocyz[a TOJITOH, ryMHo )IOKOTOK 30)IOTO MO)IOI[O oropoz[, ropoz[a MOHOKO K034,
MaJ10, 6OJI0TO, norona, arocTo, OKHO IIPOCTO, TOHKO, TOKTOP, FOJI0C, TOPOJA,
60poIa, T0J10Ca, KOJIOKOJI, KOJIOKOJIA

Exercise 3.9: Divide the following words into syllables:

Note: The underhned words are preposmons

aHaHac ap6y3 cayHa, MyCCOH Hacoc 3a3H06a COF)IaCHO KOMHaTa KaKTyc

K I[OMy, Ha CTOJ'I 4& CTOJI, 3a YFOJ'I TI/IMHaCTI/IKa rHTapa KI/IOCK KHHTIa, Ijar OJ'I
OT ropoaa, JCOYCOM H3 OKOH Jlanﬂac rpaMMaTHka, OFOpO)l
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INTRODUCTORY RUSSIAN
SECTION 2

I. STARTING A CONVERSATION IN RUSSSIAN:
1.1.SPEECH PATTERNS

Speech pattern - distinctive manner of oral expression that pertains to a particular
language. In other words, speech patterns are sentence models that are used in a particular
language to generate sentences, units of speech. There are different communicative types of
sentences: statements and questions. Statement may be affirmative and negative. Russian
statements and questions differ only in the intonation patterns. There is no change in the word
order. The verb “to be” (am, is, are) is not used in the Present Tense.

1.2. ASKING AND ANSWERING SIMPLE QUESTIONS ABOUT THINGS AND
PEOPLE

Asking questions about things:

Yro 310? (What is this?) ( special question)

D10 IOM. (This is a house.) (statement)

Bt10 moM? (Is this a house?) (general question)

Ha, 3TO IIOM. (Yes, it is a house.) (positive response to the general question)

Her, 3TO He JIOM. DTO CTOJL (No, it is not a house. It is a table) (negative response to the
general question and correct response)

Asking questions about people:

KTo0 3107 (Who is this?) (special question)

10 KypHaIUcTKA. (This is a female journalist.) (statement)

IT0 KypHagaucTKa? (Is this a female journalist?) (general question)

Jla, 3To :kypHagncTKa. (Yes, it is a female journalist.) (positive response to the general
question)

Her, 310 He :kypHajicTKa. IT0 akTpuca. (No, it is not a female journalist. It is an
actress) (negative response to the general question and correct response)

As you can see from the examples above there are two types of questions possible to ask
about a person or a thing: special and general questions.

Special questions begin with question words and cannot be answered with “zma’ (yes) or
“Her” (no). The two question words in the Russian language are 9TO (pronounced as [ImTO],
“what”) and KTO (“who”). The word UTO may be applied only to inanimate objects, while the
word KTO may be only applied to people and animals (animate objects). So if you ask the question
about a person it will be: K10 310? - DT0 Mama (6par, H3HK, Bpau). The question about a
thing will be: YT0 3T0? — DTO ITOM (KapaH,uém, IIKOJIa, COK, ca{xap)
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Exercise 1.1. Working in pairs ask and answer special and general questions about things and
people in the pictures:

]

KpoBallTh MallJIbYUK KHT

A/

AUOICT

KpecJio mkad aBTOOYyC JIeBOYKa

MaTh (KeHIINHA) MBbILIb

oren (My:KYHHA) nblLIecoc BEHTHJISAAITOP CTOJ
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Exercise 1.2. Working in pairs ask the questions using the words below and answer the questions
in the affirmative:

Model: D10 mom? — [la, 3T0 10M.

MOJIOKO, TOJIOBA, TBOMKA, CTPOUKaA, aBTOOYC, KHUTA, XKYPHAJI, )KYPHAJIHCT, cCoOaKa,
milk head unsatisfactory grade, construction, bus book magazine  journalist dog
KOIIIKAa cat

Exercise 1.3. Working in pairs ask and answer the questions in the negative and give the correct
answers. For correct answers use the words in parentheses:

Model: 9To nom? — Het, 3T0 He 10M. DTO KBapTHpA.

DTO €cTONA? (CTYJI chair) D10 GaHaH? (KApaHIALI pencil)
DTO YXO (can)? (TOJIOBA) D10 nom? (mkad)

DTO0 Bpad (doctor)? ((1)1&31/11( physisist) 910 }KypHa)'II/iCT?(}KypHaIII/iCTKa)
D10 caxap (sugan? (COK juice) Do canar? (cym)

Exercise 1.4. Ask special questions about the following nouns:
Note: The word order in the question is of no importance.

Model: mkad - Yro 310? (D10 UTO?)
KypHATHCT — KT0 5T0? (D10 KT0?)

IIKOJIa, HHCTHTYT, KapaHJIall, KapTa, (pu3mk, Opar, Bpay, MOCT, MaMa, T1aTia, JlaMIa,
6ap, COK, CyTI, HOC, TOJIOBA, KOIJ_IKa cobaKa, Ba3a, XKypHAI, XKyPHAIHCT, Yaii,
CTPO¥KA, KHHTA, XHMHK, KOT, APTHCT

1.3. REQUESTING, GIVING AND RECEIVING THINGS

We have already discussed the use of “Cmacu00’ and “TloxaryHcTa” in the previous
section. When you are making request of a person you can also preface it with “H3BaHHTE!” and
“ITpocrrTe!” that are translated as “Excuse me! Sorry! Pardon!” and are used in formal speech

situations, while the forms “ITpocTr!” and “HM3BuHE" will be used in informal speech
situations.
Exercise 1.5. Working in pairs, take parts of a salesperson and a customer. Practice buying the

following items: K()'(I)C/MOHOKCS (coffee), BHHO/ can(béTKa (wine) (a napkin),
IIHBO/JHTICHL (beer) (chips), TOpPT/ BHJIKA (cake) (fork), rmpO)KOK/caJI(I)eTKa(small filled
pastry), COK/COJIOMHHKA (juice) (a straw), CAJIAT/BHJIKA (salad), cyn/xJeb (soup) (bread),

Model: A — 3npascTByiite | MoxHO gait, moxamyicra? (May I have tea, please?)
B — IMoxayiicra. Bot oH. (Here you are)
A - H3BuHnTe, a rie caxap?
B- Caxap Tam.
A - Crnacu6o. [Jo cBEIaHmS.
B - IToxanyiicra. ( You are welcome)
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1. RUSSIAN ALPHABET. LETTERS AND SOUNDS

2.1. Consonants

There are two more pairs of voiced and unvoiced consonants in the Russian language
B-® and 7K- II:

M H JI P

>

voiced b r Ji | 3 B

unvoiced 11 K T C ()] I

Consonants B [ and @ @—dﬂ

When articulating the hard consonants @ and B, the upper front teeth and the
lower lip are brought together, but not completely, creating a crack. The back
part of the tongue together with the root is pulled back. These Russian sounds
are similar to their English counterparts except the lips are slightly rounded.

na — ¢a o — ¢o ny — gy dbca—cha  dco—cho dbcy - chy

an —ad omn — o yo — yd B3a — 3Ba B30 — 3BO B3y - 3BY

Consonants K" —J andIl ———

If you want to pronounce consonants 2K and III correctly, raise the front part of
W your tongue and bend the tip of the tongue slightly back (as you bend it

when articulating the English sound “r”’). At the same time, arch the back part of

your tongue towards the soft palate (to the area where the Russian vowel V¥ is

articulated). While you are busy trying to perform these operations, the middle part

of your tongue is creating a small concave saddle. Your lips are smiling slightly

and are protruded. The pronunciation of the Russian sound III is similar to the
combination of letters SH in English as in the words “shelf”, “shock”, etc. There is no sound
similar to Russian 2K in English. In writing, this sound is often rendered by the combination of
letters ZH in English. The English sounds rendered by the letters G and J do not exist in Russian,
so they are transliterated into Russian by the combination of letters IIK as in JI2KOH (John) or

Jxopax (George). yIry — Iy — I yKY —XKYy — K
OO — 10 —II 02KO0 — KO0 — XK
KIIy yIIy oImy M1y KTy XKIry TXYy Xy KO IXKIO
KIIO YIIO OIIO IO IKITO KIO0 TIXKO KO KU XKIH
KIIa ylla olla ma IKTH KTH  TXKH KM KD KJID

I’Kra 2Kra TI2Ka 2Ka J2XKa 2XKIa
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The other two Russian consonants are X and Y . These consonants are always unvoiced
and they don’t have any voiced counterparts.

=

voiced |N r )i | 3 B M H J P

unvoiced | IT | K | T | C | @ | I0 | X | Y

]
Consonant X . R

The consonant X is articulated at the same place as that of the Russian K. The
whole tongue is pulled back and arched towards the soft palate, forming a

B constricted passage between the back part of the tongue and the soft palate through
which an outgoing air stream is channeled. Lips are slightly open. There is no
similar sound in the English language. In English, the sound X is rendered as
KH as in “Kazakhstan”

KXO0 — XO KXYy — Xy KXa — Xa X0 KO XO KO XO KO
0X0 yXO YyXO— X0 —XO Xy Ky Xy Xy Ky Xy
VXY YXy YXy—Xy - Xy KOX — XOK KXO - XKO
axa yxa yxa—xa-—xa Kax — XaK KXa — XKa

Consonant 4 ! 1{4.: /L]

When articulating the consonant Y, the front part of the tongue, together with its tip,
touches the alveolar ridge and the front part of the hard palate (the tip of the tongue may touch the
lower teeth.) The middle part of the tongue rises highly, creating a slightly convex form. Smiling
lips are slightly protruded and opened. Consonant Y is similar in pronunciation to CH as in
words “church”, “chalk” etc.

WY - Y4 YU HY aya - ya 4a au ydy -4y 4y yd

Consonant (semi-vowel) # Zz w

The place of articulation for the consonant WUis actually the same as that of the vowel H,
but the middle part of the tongue is raised even higher towards the hard palate forming an
obstacle — a constricted passage through which the outgoing air stream is channeled. The tip of the
tongue and its back part are sharply lowered (the tip of the tongue is placed on the back of the
lower teeth). Lips are slightly smiling. The Russian H is similar to the English “Y” as in the words

13 9 ¢

yes”, “yard”, “yellow”, “yet”, “you”. But the Russian “M” is more tensioned. This letter never

18




occurs in the beginning of the Russian words. It is used in the initial position in some borrowed
words: Hopk, #on. The letter always follows a vowel in the middle or at the end of a word.

: mau, paH HaHKa I‘IElI/IKa J1ai, Tai, MaHKa IIaBaI/I Maii, yai, capaH rnau,
3aI/IKa CaHKa

HH pYCCKI/IH aHFJII/II/ICKI/II/I KI/ITaI/ICKI/II/I BHH 3aI[HI/II/I KI/II/I THXI/IH HOJIOFHH
.HOB‘H/II/I I‘OH‘II/II/I 6)'II/ISKI/II/I

OMH: 6011, pa30oii, KOBOO#, BOi, OOMKHI, CTpaHOM, MO, BOTHA, KOHBOM, TIOH,
BOMCKO, TOOOH, 1OpPOroun

VU, nyi, pasyii, nonyi, xormyii
2.2. Vowels
Vowel D B_:m .

When articulating the accented vowel 39, the whole tongue is moved forward. Its middle
part is raised towards the hard palate. The tip of the tongue slightly touches the back of the lower
teeth. The lips are neutral. This letter appears only in a few Russian pronouns. It is mainly used in
borrowed foreign words. It is pronounced as [e] in “set”.

MBap, cap, map, :aTa 3T0, TOT, ITH, 3T2DK STAXKH, :axo aKCTpa BKCTpaKT 360HHT
Katpun, DpHK, 31aK, DMMa, 3T0 JIOM, 3TOT JJOM, 3TOT BHJI, BTO Ya/0, 3Ta IOIPYyTa

111. READING AND LISTENING EXERCISES

Exercise 3.1. Listen carefully to the initial voiced or voiceless consonants and circle the words
that you hear:

1. 6ap - map 2.BoH — (oH 3. rom— Kot 4. JI0M — TOMS 3y6 cyn
6. IOK-TOK 7. IOM-TOM 8. Xkap-map 9. mocka-tocka 10. T0YKa-TOUKa

Key: 1. 6ap 2. pon 3. kot 4. Tom 5. 3y0 6. 10K 7. Tom 8. xap 9. Tocka 10. TOuka

Exercise 3.2.Listen to the following words. Circle the vowels that are not pronounced the way
they are spelled:

OKHO KOCMOC KOIIIKA coOaka MOJIOKO

4

Kapra yXO roJIoBa OaHaH JlamIa
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Exercise 3.3. Listen to the following words. pronounce the words to show the difference between
1 and I:

Mowu — Mmoit TBOU — TBOU CBOHU — CBOH

Exercise 3.4. Read the following words with the new letters:

1) y(bai danT, (paTai (I)OH (py(b (yHT, LHKa(p

2) Barta, BOT, 3a6aBa BO3HT, Ba3a Bpam

3) mym, myT, IIyTKa, MyIIyH, IANKa, yKyIIy, Homy, BHymy, 6ara>Ky, maHTaH{y
4) BHYIIAJ, Ty, Blll, Hall, (I)I/IHI/IH_I XKYK, KyIaH, KoM, Xkaba, KaxKa, OyxKy

5) HOXY, CKaxy, My>1<y, BHXKY, CKaXKyT, MyKa

6) B yX, yXa, CyXa, MyXa, XOII, XaH, XaM, yX, 6yx IyX, ACTYX, BO3IYX, OX, MOX, COX,
7) B3[0X, MaXx, 0ax, Tax, MXOM, MOX COX, BAaKXaHKa

8) yu, ouw, KyJ'II/ILII/I 3aUMH, 1aUa, 337142, yI1aua, MO‘{I/I quH YMH, YaH, qaCHKH
9) qy6yK qyryH qy6yq0K 61y, Bpay, rpay, CTyKad, Majad, Jyd, Ty4, CKPHIYY,
10) Kyua, XKypua, Jamka

11) KOWKa, TAiHa, 30/Ka, TBOHKA, CTp(;fIKa, 3afIM}}

Exercise 3.5. Read the following words devoicing the final voiced consonants. In the spaces
provided write down the consonant that represent the correct final sound in these words:

dong] ] rotos[ ] sos[ 1 mya J,sasonm Jmop[ ] myx[ Iyx[ I,
3aMyx[ ], HOX[ ]MOHTa)K[ ]MaCCEDK[ ]6ara)1([ ]I_HaHTa.)K[ ]yxog[ ],

noxon] J,3axom] I, xom 1, xym J],60or Juan] ], uy6[ ], stax] ],
CwmuproB] |, mpuxon ]

Exercise 3.6: Read the following words and phrases where there is regressive assimilation at the
juncture of two consonants. In the space provided write down the letters that represent the correct

pronunciation of the two consonants at the juncture:B IOM,][ ]H(;)ﬂa[ ], Hdma[ ],
Bam Xyk| ], Haxomka] ],

Bxon| ],BToH[ ],BTymMOy[ ] Bmy3o[ ], Bmor ], 06 danr ],

OT 3a1363a[ ], Héﬂlflﬁ[ ], 6J'II/i3_KI/Iﬁ[ ]

Exercise 3.7. Read the words reducing vowel “O” in the following words where necessary:

Coda, (bQTO’H (bgq)aiH (béTg FQTC;B BQ):[Ei Bgz[gB(53 Hgmy, MgHTé)K )K};TKQ
HOKa)Ky, H0>Ka HOXO)Z[, 3aXOIL, oxanKa yxo B yxo cyxo XOIL, XOXOT XYJIO
XOIIOK, XOMyT xo60T0K XOXOTyH BOCXOI, TIOUHH, MO‘—II/I qaz[o 4y, Moryq
Tquo Haquo yﬂaqu MOJ'I‘{I/I MOme, 37O, 3T0T 5X0, TIOJIOTH, KOBOOIA, BOHHa
KOHBOH BOJCKO, TO6OH )Ioporon Hoz[yn xonyH noXasyicra, 6GOHKO, TOMOHKa,
MOCTOM-Ka, IPOCTONKA, CITyYaitHO, OMMY, 10HIY

! Consonant «s» here is the preposition which means ‘on” or ‘in” in English. Remember that in pronunciation
prepositions merge with the following word
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Exercise 3.8. Practice reading the following poem:

Tyx — Tyk — TyK! Tyt xax TyT,
Kro Bac Ty1? Kor kak Kor.
KT0 TYT BOT? Kor Tax Kot !
TyT BOT KOT. Bor Tax BoT .... (B. HI'yceB)

1IV. GRAMMAR (TPAMMATHKA)
4.1. Preliminary remarks. Morphology and word structure in English and Russian.

A language student needs to understand the word structure and word derivation patters
used by the language he studies. The way in which a word is constructed, the elements of which it
is made, is an important building block in our understanding of the language. The branch of
linguistics that studies the structure and form of words in a language is called morphology. There
are the following components, called morphemes, identified within a word: root, affix (prefix,

suffix), ending and stem/base. These morphemes may be free, that can stand as a word on its
own and bound, that only occurs in combination with other morphemes. You can encounter
bound morpheme "-gress" in the following words: progress, regress, digress, ingressive,
retrogression. The example of free morphemes will be the following: pack — un - pack

Root - a bound or free morpheme that contributes the main portion of meaning of a word, such as
morpheme “help” in the words help (n), help (v), helpless, helpful, helpfully, unhelpful or
“-gress” above.

Affix —a bound morpheme that must be attached to another morpheme in a particular way, and
does not contribute the main portion of the meaning of a word. Affixes are subdivided into
prefixes that attach to the beginning of a root and suffixes that attach to the end of the root. They
derive a new word of different part of speech or make a word to which they attach more abstract.
For example, if you add a bound morpheme/affix “-ful” to the root “help” (noun) you will get an
adjective “helpful". If you add a prefix “be-“ to the root friend (noun) you will get a verb to
“befriend”. If you add a prefix “-ship” to the noun “friend” you will get a noun “friendship”
which is more abstract in meaning than the word “friend”.

Stem - is a morpheme or a group of morphemes, consisting at least one root and possibly one or
more affixes, to which an ending is attached. For example, the stem in the following words
befriend|-s, befriend|-ed, befriend|-ing will be befriend|- while “-s”, “-ed”, “-ing” will be the
endingds. In other words, the stem of a word is the part of it to which the ending is added.

Ending — is a grammatical bound morpheme that does not create an new word, and that creates a
different form of the same word. Another name for ending is the word “inflexion"”. The major
difference between English and Russian is that Russian has a lot of inflexions and is called an
inflexional language, while English has lost almost all of its inflexions and in called an
analytical language. Russian uses endings to show different grammatical forms, while English
uses other means more than endings. That is why knowing proper endings in Russian is of crucial
importance. You will see and will have to remember a lot of them in your course.

4.2. Nouns

Nouns are words that name persons, places, things, phenomena and ideas.Grammar books
divide nouns into 2 groups - proper nouns and common nouns. Proper nouns are nouns which
begin with a capital letter because it is the name of a specific or particular person place or thing.
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All nouns have gender in Russian: they are masculine, feminine or neuter. The gender of a noun
may be determined by its ending, the changing part of a word that indicates syntactic
relationships of the word in a sentence. Endings of nouns in Russian are usually presented by a
single vowel, combination of two vowels or combination of a vowel and a consonant.

Generally speaking masculine nouns usually end in a consonant or «i», or as is often said
they have zero ending: cToJi|  (atable) , s)kypHajaicT| (ajournalist), ;om| (a house)

Feminine nouns end in “a”: KHMAI|-a (a book), KOMHAT|-a (a room), MaMm|-a (a
mother) and neuter nouns end in “0”: okH|-0 (a window), cykH|-0 (woolen cloth), 06.1aK|-0
(cloud)

A noun may be substltuted by a personal pronoun OH (masc.), OHa (fem.) OHO (neuter).

The pronouns OH, OHa OHO only partially correspond to the English pronouns he, she and it.
While in English the pronouns he and she may be referred only to people (animate nouns) and
pronoun it — to objects (inanimate nouns), in Russian the pronouns OH, OHEi, OHO may be referred
to both people and objects depending on their grammatical gender, not on their denoting a person
or objects.

Compare: a) objects

a table — it a book — it a window - it
CTOJl - OH KHHTa — OHA OKHO — OHO
b) people
an actor — he an actress —she  akTép — OH aKTpHCA — OHA
journalist — he journalist —she  >KypHaJHCT — OH }KypHaJ'II/ICTKa OHa
cat—he cat — she KOT — OH KOIIIKA — OHA

As you see from the examples, the gender distinctions of nouns are absolutely arbitrary for
the words denoting objects, though in the nouns, naming people and their professions or animals
they might reflect the sex of the people.

Exercise 4.1: The following nouns are cognates. Read them and try to guess what they mean in
English. Determine their gender.

Asporopr, aBT06yc 6ap, I/IHCTI/ITyT (pOToannapaT OaHK, MapK, CTa):[I/IOH rapa>1<
CyI, HOC, JKypHaJl, Ba3a, MaMa, rarna, KaTaCTpO(pa mapaioxc, KapaBaH KocMoc,
}KypHaJ'IHCT )KypHaJIHCTKa I[OKTOp, XUMUK, (1)H3HK MaHlHHa BOJIA, MOJIOKO Opar,
TOPT, J1aMIIa, GaHaH, CaJIaT, IKOJIA, Yaii, MOJHTHKA, HMIIOPT, (hyTOOJI, 3KOHOMHKA

Exercise 4.2: Read the following words to you partner. The partner should provide the pronoun
«OH», «OHA», KOHO» that corresponds to the gender of the noun you read.

Cok (]u1ce) CTOJI (a table) CTYJI (a chair), pot (a mouth), MOCT (a bridge), 1OM (a house), KOT
(a cat), yXO (an ear), py‘JKa (a pen), KapaHnanm (a pencil), LLIKa(b (a wardrobe), CyMKa (abag, a
purse), caxap (sugar), KapTa (a map), KOMHaTa (a room), OKHO (a window), 1OCKa (a board),
roJI0Ba (a head), cobaka (a dog), Bpad (a doctor), CJIOBO (a word), CTp(;FIKa (a construction
site), IBOMKA (an unsatisfactory grade “F”)
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Exercise 4.3: Learn a few Russian words:

caxap (sugar), rosioa (a head), mxosna (a school), crpoiika (a construction site),
mkad (a wardrobe), komuara (a room), yxo ( an ear), asponopr (an airport),
pyuka (a pen), cioso (a word), :xypuaJsuct (a journalist)

Working in pairs name the letters in the following strings. Rearrange the letters to make one of
Russian words given above. Write the word down. Determine its gender.

A B

1. MTaHako 1.

2 2. xpaca

3. KJamo 3.

4. 4. onroas
5. pxam 5.

6 6. ukapy
7. ocBOJI 7.

8 8. Oxy

9. XpauiTcyH 9.

10.

10. pnotpaso

23



INTRODUCTORY RUSSIAN
SECTION 3

I. STARTING A CONVERSATION IN RUSSSIAN:
1. 1. GETTING AQUAINTED

If you like to initiate the introduction and get to know somebody you can use the phrase
«laBaii(Te) mosHaKOMHMCS» (Let us get acquainted) and

[maBai(TH) mO3HAKOMUMCH |
«Pa3pemm(Te)npencraBATbCD» (Allow me to introduce myself).

[pa3puIIBbITH TPUICTABULA |

If you want to ask somebody his/her name, the Russian phrase will be:
“Kax Bac (te64) 30ByT?”
[KaK Bac (THOS) 3aBYT]

which is literary translated as “What do (they) call you”. The pronoun “you” may be used in the
form of “Bac” for formal situations or when you ask the names of several people, and “Te0d” for
informal situations or when you ask the name of only one person. The response to the question
will be:

“Mens 30ByT Ban”.

[MuHS 3aByT]

When somebody introduces himself/herself and tells you your name, you have to say

“OueHb NpUATHO (IIO3HAKOMHTHCH)”
[ounn’ npraTHA (TO3HAKOMHMIIA)]

which means, “I am pleased (to get to know you)”.
The conversation to initiate the acquaintance would sound as the following:

A: - 3ppascrByiite! Pa3pemmre mpencraBuThca. MeHd 30BYT ...(your name)
A Kak Bac  30ByT?

B: - 3mpascrByiite! Ouenp mpusTHO! MeHd 30BYT. ..(your name) .....

A: - Ouesnb npugrao! Coacu6o.

Or the conversation might be the following:

- HoOpriit nenn! laBaiiTe MO3HAKOMHAMCS.
- HoOperit nens! asaiite! Kak Bac 30ByT?
- Meng 30ByT ...(your name) .....

- OueHb IPHITHO.

- A KaK BacC 30ByT?

- Meng 30ByT ...(your name) .....

- O4eHp IPHITHO (IO3HAKOMHUTHCH).

> wewe
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1.2. GETTING TO KNOW MORE ABOUT EACH OTHER

You might want to find out more about the person and ask him/her a question about his
nationality/citizenship: BeI aMepHKaHen/amMmepHKaHKa? (Are you an American?)

BeI pycckuii/ pycckad? (Are you an ethnic Russian) Bbl poccuanun/poccugaka?
( Are you a citizen of the Russian Federation?)

Please take a note that a person who lives in the Russian Federation may not necessarily be an
ethnic Russian. The Russian Federation is a multinational country where people of various enthic
backgrounds have been living for centuries. It is quite appropriate in certain situations to ask
about the person’s nationality or ethnic background:

KT0 BBHI 10 HAITHOHAILHOCTH? - 4 10 HAITHOHAJILHOCTH PYCCKHIA.
[11a HA-I1H-a-HaJTb-HAC-TH] [1a HA-1H-a-HaJTb-HAC-TH|

If you want to find out what the person’s profession or occupation is, you could ask about
it in the form of a general question: BBI cTymeHT/cTymeHTKA? - The answer to this question
will sound as «Jla, & cTyneHT/cTyneHTKa.» or «Her, 4 He cTyaeHT/cTyneHTKa. { Bpau.»

Or in the form of a special question:

KT0 BHI (TBI) 1O IpOGeccHH?  [kTo Byt na npodeccun] or simply KTo BBI (TEI)?
The answer to this question will sound as

4 110 IpocheccHE Bpad (a physician)
That’s how your conversation will sound:
- 3opascrtByiite! Kak Bac 30ByT?
- 3npascTByiiTe. Mens 30ByT JIkeccHKa.

A
B
A: - Ouens npugaTHO JXeccuka. Bol amepukanka?
B - Ia, 1 aMmepaKkaHKa. A KaK BacC 30BYT?

A

- U3BunmTe. 4 3a0bU1a mpencTaBUTBCA. (I forgot to introduce myself)
Mens 3oByT Harama.

B: - Ouenn npugrHo, Hatama. Bel pycckag?
A: - Her, g ToXe (also) aMepukanka. IIpocro Mo€ uM4g pycckoe. (simply my
first name is Russian)

Exercise 1.1. Answer the following questions using the suggested names of nationalities. Pay
attention that the names of nationalities usually have two gender forms: masculine and feminine:

Model: a) Bol pycckaga?/Be1 pycckuit? - Jla, g pycckad. la, g pycckuii.
Her, g He pycckad, 9 amepukanka. Her 4 ve
PYCCKHH, 5 aMEPHKaHeIl
6) KTo on o HaHOHATEHOCTH? — OH 110 HAIMOHAJTbHOCTH aMepHI(aHCII
KT0 0Ha 110 HAHOHAMBHOCTH? — OHA IO HATHOHATBHOCTH AMEPHKAHKA.
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KaHasen/KaHanKka, HCaHel/HCNaHKa, HTaJIbsHEl/HTaIbSHKA, HEMeL/HeMKa
(a German) MEKCHKaHeI/MEeKCHKAHKA, SIOHEeL/SMOHKa, HpnaHz[eu/HpnaHz[Ka
MIOT/IAHAeI/IIOTIAH/KA, HOpBC)KCH/HOpBe}KKa nopTyranen/nopTyraﬂKa
BhETHAMEII/BETHAMKA, LIBEI/IBENKA, (QHHH/(UHKA, yKPaHHEL/YKPAHHKa,
KHUTaell/KUTagHKa, Kopeel/KopedHKa, (PUIunnuHen/ (pruinnnuaKa

Exercise 1.2. Answer the following questions using the suggested names of professions. Pay
attention that many names of professions are used only in the masculine gender:

Model:

1. Kto on mo mpodeccuu?
OH no npO(beCCHH YIHTEb. OH no npodeccuu Bpay.
2. Kr0 0Ha 110 npo@eccnn"

OmHa 1o poeccun yguTensHana. OHa 110 TPOhECCHH Bpay

}KypHaJ'[I/iCT( Ka) (pOT(;rpa(p apXHTéKTop, MEXaHHK, MeﬂceCTpé/MeHGpéT

(a nurse), HH)KeHep, My3bIKaHT( Ka) anaTenb( HHUIIA) (a ertel‘) Xy,Z[O)KHI/IK( ua)
(an artlst) NETUrK (-11a)(a pilot), crecaphb (a maintenance person), MEHEIKep, CEKPeTaphb,
l'IO}KapHI/IK (a fireman), TipenofaBaTenh (- HHHa) (aumvers1ty instructor),
nporpaMMHCT(—Ka), XUMHK (a chemist), (I)I/I3I/IK, Bpay, 6roor (biologist), HOJIHTHK,
AHAJINTHK.

Il. RUSSIAN ALPHABET.
LETTERS AND SOUNDS

2.1.ConsonantIT |7/ —_ —
4y

When articulating the hard consonant LI, the whole tongue is flat. Its back part is slightly pulled
back. The tip of the tongue can be placed either on the upper or lower teeth. At the moment of
articulation, the front part of the tongue is closed up with the alveolar ridge producing the
element of the [t]-type, which immediately changes into the element of the [c]-type. Lips are
slightly smiling. The consonant LI is pronounced as [ts] as in “rats”, but more closely fused. There
is no similar sound in the English language. It is rendered in English with the help of two letters
TS.

TCBI — IIbI BbIIIbI — IIbI 1IbI Chbl — II1bI CIIbI IIBbI — IIBHU
Tcy —ny yay —my ny cy—nmy cay HIBY — HBIO
Tco — 1o 0110 — 110 oo Co—10 CIo LIBO — LIBE
Tca —1a ama — 1a ma ca—nua cua 11Ba - 1IB4
Ter —1d AL — 1D 13 CH— 11D CIID 1IB3 — IIBE
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2.2.Vowels
In the previous sections you learned about Russian vowels A, ¥, O, ! and 3.

Vowel bl __EZL_{
Another Russian vowel is BI which does not have a similar vowel in
English and is often substituted in pronunciation by vowel 1. Remember
4 that bI and M1 are letters that represent different sounds in Russian. When
articulating the vowel BI, the whole tongue together with its root is pulled
riback (to the place where the sound Y is articulated.) The front part of
theitongue together with the tip is not only pulled back but it is also
considerably lowered. The middle and the back parts are highly raised towards the
soft palate. The back part of the tongue and its root are tensioned! As opposed to the sound Y,
now lips are spread in a smile! Don’t round your lips!

Oy — ObI BY — BbI Iy — bl My —MBbl Oy — OBl Ty — Thl

VMU — bIMBI WIIN — BIIIBI udu — bidbI

MH — MBI — MBI Ou — OBbI — OBI ITH — IIbI — IIBI
MH — MBI — MH Ou — ObI — OH K — IIbI — ITH
MBI — MH — MH ObI — Ou — OH bl — U - ITH

MBI — MbI — MU ObI — OBI — OH ITbI — bl — IIH
MBI — MH — MBI ObI — OH — OBI bl — U — IIbI

dbu — b1 — b1
dbu — b1 — pu
bl — U — b1
b1 — pu — pu
b1 — pu — b1
Y -- Bl

6yK — OBIK, IyM — JIbIM, MYCC —MBIC, CyJI — CBIT, IyOy — 1yObl, KOTY — KOTBI

H-- bl

MHJT — MBI, pU( — PBII, T — MBI, CHJT — CJIBLI, BHI — BbLUI, Hu — HBLI, cHp — CBIp,

UH---bIA

CHUHHM — CU3BIHA, DYCCKHH — PYCBIA, 3HMHHHM — CTAPBIA, KYTKHHA — HOBBIMH,

BH — BBI - BBI
BH — BbI — BH
Bbl — BH — BbI
Bbl — BH — BH
BbI — BH — BbI

IPBITKHH —yMHBIH, JIOBKHH — 31paBbId, AHIJIMACKHH — JIBICHIA



Vowels 4 \C% JL I }(ZJ‘__;H E

Vowels 4, E, E, IO are different from the rest of the vowels A, Y, H, O 3 and I)I because they
are diphthongs composed of two sounds fused together. The first sound is Y which then glides to
the sounds A, O, D and YO, that is why we can transcribe them as follows: 4 —[#a]; E - [#0]; E

- [#a]; 1O - [iay]

A-a-a-a Ha-ia-ia-ia
0-0-0-0 HO-HO-HO-H0
E-e-e-e Ud-UD-HD-HD

Y-y-y-y  ity-ily-dy-ity

2.3. Russian vowels and palatalization (softening) of consonants

hard vowels A o) y C) BI

soft vowels q 1) 10 E U

As you can see from the table above, all Russian vowels are subdivided into two groups,
based on their effect on the preceding consonants:

Vowels 4, E, E, O and ¥ make the preceding consonant soft or palatalized.
Palatalization occurs when the middle part of the tongue is considerably raised towards the front
part of the roof of the mouth that is called the hard palate. It happens naturally when a consonant
is followed by one of the above vowels, because for their pronunciation we need to raise the

middle part of the tongue towards the hard palate. (See the description of articulation the vowel K
and a consonant (semi-vowel) ﬁ). Itis 1, the glide of the diphthongs 41, E, E, 1O, that causes the
palatalization of the preceding consonant and merges with it, so we cannot hear it at the juncture
of the vowel and the consonant. The glide Y is heard when these vowels occupy an initial
position in a word or foIIow another vowel:

dna ---- 3nag ---cuHgg

In the first word the vowel 4 is in the beginning of the word, so the glide WUis pronounced
and heard distinctly. In the second word the vowel 4 follows the vowel A, so again the glide His
pronounced and heard distinctly. In the third word we have two vowels i, the first follows the

consonant H, so the glide Y of the first 4 is not pronounced, while the glide Y of the second 4 in
this word is pronounced and heard distinctly.

Ma - M4 - Ma Oa - 04 - Oa na - nd - na da- ¢4 - da
M4 - Ma — M4 0s - 0a - 04 4 - na - nd bd- da - ha
MY - MIO - MY Oy - 610 - Oy ny - I - My by - drwo - Py
MIO- MY - MIO 010 - Oy — 010 1o - My - M0 1o - Py - Ppro
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Ba - B4 - Ba I3 - e - 19 HD - HE - HD CH - Ce-CH
Ba - B4 - Ba Ie - 13 - e HE - HY - HE ce - Ch-ce
BY - BIO - BY 1o - 10€ - 10 HO- HE - HO CO - C€ - CO
BIO - BY - BIO 1€ - 0 - € HE - HO- HE cé-co—cé
4H - Had - HY 4T - Tad - T4 41 - J1ad - 14 43 - 3a4 - 34
IOH - HYIO - HIO I0T - TYIO — TIO 101 - JIYIO - JII0 103 - 3YI0 - 310
€H - HOE - HE €T - TOE - T€ €J1 - JIOE - JIE €3 - 30€ -3¢
€H - HOE - HE €T- TOE - T€ eJ1 - JIo€ — JIe €3 - 30€ - 3¢

Palatalized consonants are traditionally called “soft” consonants; unpalatalized ones
are called “hard” consonants. A consonant is hard when it is followed by vowels A, O, D, VY,
and bI. With all this in mind, we can arrive at the conclusion that in Russian all consonants can
be modified by the following vowel and exist in two variants; as a hard and as a soft consonant.
This phenomenon is peculiar only of the Russian language and does not exist in English. As you
can see from the table below, not all of the consonants have two variants. There are some

exceptions that require special attention on the part of the Russian language student.

voiced hard | B | T | I | 3 | B | X o M | J|P | H
soft |\ B | I" |’ | 3 | B | ? 2?2 M |P | PR
unvoiced |hard | IT | K | T | C | & | II | X ?

soft | I”" | K | T |C |® | ?2 | X | T

2.4. Spelling and Pronunciation Rules in the Russian lanquage.

Remember that Russian consonants 2K and III are not capable of palatalization. They are
always hard. In spite of this, in writing they can never be followed by hard vowels BI, D but may
be followed by the soft vowels H, E, E, TO. If softening vowels 1, E, E, IO follow
them, these vowels have to be pronounced respectively as Bl, O, B, Y. Consonants 2K and III

may be followed by both E andOin writing, but both these vowels will be pronounced as O. You
will have to remember the spelling of the word. The following table shows the vowels in
parentheses that cannot be used in writing after the consonants 2K and III:

hard vowels A 0 y ) (BI)

soft vowels

) E 0] E 5
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Pay attention to the difference between the pronunciation and spelling of the following words:
2KEH [2KOH |; MO [ MamioI |; mapaioT [aparyT |; KIOpH [XKypH |;
Oporxopa [Opatirypa |; KeCT [K3CT|; IeCT [ ACT |

Remember that the Russian consonant I is not capable of palatalization. It is always hard.
In spite of this, in writing it can be followed by soft vowels M and E. If softening vowels H and
E follow it, these vowels have to be pronounced respectively as BI and 9. Consonant I can

never be followed vowel D in writing. Consonant I can be followed by both vowels bl and H.
You will have to remember the spelling of the words. The following table shows the vowels in

parentheses that cannot be used in writing after the consonant II:

hard vowels A 0O y ) Bl

soft vowels 1) (E) (0) E U

Thus, in the words the letter «u» will be pronounced as «1» HHHK [LIBIHK ], IAHHK [ BIHHK],
LHKJI [ IBIKJT |, THPK| LBIPK | and the letter «e» will be pronounced as «»» IEX [ 113X |, LETb
[mar’], HmenKui [ IBIKUH |

Remember that on the contrary, Russian consonant Y is always soft regardless of what
vowel follows it. In spite of it, the consonant Y can never be followed in writing by the soft
vowels I, IO, but instead we can write vowels A, O and ¥ after it. Ifit is followed by hard
vowels A, ¥V, O they will be always pronounced as soft vowels §, YO, and E after 4. Consonant
Y may be followed by both vowels O and E. But in both cases, the vowel will be pronounced as

E. You will have to remember the spelling of the word. The following words' spelling is different
from the way they are pronounced;

qyz[o] [qgrz[a]; vaImKa [qs_{mKa]; q@’CToz[qi_{CTa]; quzi [ngé]; }KY‘IQ’K
[KyuéK ]

The following table shows the vowels in parentheses that cannot be used in writing after the
consonants :

hard vowels A 0O y ®) (bD)

soft vowels 1) 1) (0) E U

2.5.Vowel Reduction. (continued)

We have already discussed in the previous sections that the vowels are reduced in quantity
and quality in the unstressed syllables. All the vowels in the unstressed position undergo

! pay attention to the reduction of “O” in unstressed syllables
% see the previous footnote
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reduction, but the most obvious is the reduction of vowel O in unstressed position, as in the words
MOJIOKO, 30JI0TO, MHOTO.

Vowels 4 and E are also reduced qualitatively and quantitavely in the unstressed position. Vowels

A, E sound like H in unstressed position. Compare the pronunciation of these vowels in both
stressed and unstressed positions in the followmg words:

MSITKA [I'ISITKa]— ngraxk [HHTaK] (a heel - five kopeck coin)

CHer [CHeK] cHera [CHHFa] (snow SNOWS)

MSICO [Mgca] — MSICHOH [MHCHOI/I], (meat — meaty)

After consonants 2K, Il and I, vowel E in the unstressed position is reduced to the

sound Bl in pronunciation. Remember that we never pronounce M after 2K and III which are
always hard. Compare the spelling and pronunciation in the following words:

[IECTO# [[IBICTOH ] (the sixth) JKeHa [KbIHA] (a wife)
mesyxa [mpbtyxa] (husk) KENTOK [>KBLITOK | (yolk)
2KeneBa [kbIHeBa ] (Geneva) 11eHa [1IbIHA | (price)

e/ THHa[ BUTHHA] (virgin land)

In the combination of YA in the unstressed position, where the letter A stands for the
actual sound 1, the reduction will occur also with A changing to H.

yac [udc] — Yachl [qgcﬁ] (an hour - hours, clock)

Vowels 4 and E in the initial unstressed position, when they retain their | glide, will be
reduced to HH.

F3BIK [HH3BIK | eHOT HHHOT]

epyHna [HHpyHia] Sdnonus [HAMOHHs |

I11. READING AND LISTENING EXERCISES

Exercise 3.1: Recognizing vowels: Mark the vowel you hear for each recitation:

bl
bl
bl
bl
bl
bl
bl
bl
bl
bl

e S RN el
P g g g g g S '
AR VI S VA B R
cloloNololoNoNoNoNe)
CholcRoloRolole ol
esiesiesHiesesHiestiesHesiestiesH
SNESESEEEENEX
(ORORORORCORCORCORORCONC)
SSO53S3833303
MMM n NN mMN
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Exercise 3.2 Recognizing soft and hard consonants. As you listen to each syllable repeated twice,
circle the syllable you hear — hard or soft:

1. Tb1 — TH 2. 10— né 3. bo — pé 4. Hy — HIO
5.1a— a4 6. Ta — T4 7.Ba — B4 8. d> — e
9. My — MIO 10. BbI — BH 11. 10 —TE 12. ca—c4
13. B0 —BE 14. ¢ —ce 15. 361 — 31 16. 1€ - TO
17.3y — 310 18. my — mio 19. na — ng 20. ny — mo

Exercise 3.3: Practice reading the words with alternative soft and hard consonants:

Mar — M4T, MyCC — MIO3HKJL, MOT — ME]I, HAMOK — HAMEK 6};gKa — O10CT,

oI — NEK, Ba3a — B43, BaJI— BSJI, BOCK — BE3, ObUT — OWJI, pad — pall, MOJI — MET,
HOC — HEC, BO3bI — BO3H, MaJI — ML, CbIH — CHHHH, BB - BAJI, TIBUT - TAJL,
nppi6bm - Hpn6ﬁn, JIaK — JIIL, TOK — TEK, JIYK — JIIOK, C3p — Cep, JIbIMa — JII/iMa,
manKa — n;iTKa, Xara — XOTsi, BOJI — BEJI, IOM — HAEM, IIOCT — NEC, KOT — TKET

Exercise 3.4. Read the following words with the new letters:

MBI, BB, Thbl beI OBIK, 3DIK, OBIT, CBIT, CBIH, JIBIM, KyMbIC CBIp, MbITbI CBITHI,
BbIMbITbI BbICTyrIbI CbIHbI CyI[bI CaI[bI CTaHCbI 3aBOI[bI TyMaHbI aBTO6y0bI
yMHbIH, MOI[HI)IH, 3z[paBbIH, 6bIBa)1bIH, CTaprH, rJIyHbIH, BAJKHBIH, JIbICbIH, HOBbeI,
Cﬁ3b1ﬁ, H(SpHCTbII?I, BéﬁHbI, M)}3bIKa, )Iblpé, z[bipbl, HaHI/IpdCbI, pbiTBI/IHa, HpI/ICI)iHKa,
CHIHHIIIKA

dq, siMa, §i3Ba, épMH}I, CTpaiHHaﬂ, CI/iH}ISI, 3H2iSI, BbIHHMeiSI, rynsiﬂ

€X, EMKHH, €JIKa, 'épm 3a€M, TaeT

eM CCT, CJI, CBHYX, Z[CJ'IaCT HOHHMaeT

IOHFa IOHbII/I IOHHaT ):[an )_'[aIOT YIOT ‘lHTaIO I[YMaIO Kanan 3HaIO

MOIOT KyHaIOT

MﬂTa MIO3HKIT, HaMEK, 6aCHH HHTbIH MEK, BeCTH BCCHbI MIOerH 6${Ka orocT, Oec,
HHHeTKa HeCHSI (I)I/IOJ'[CTOBI)II/I dben, mex, cMmex, pﬂca UCIIEK, )IIO)KHHa 3€pHa,
JTIOBHT, JI0OJTIO, MaKeT

UBII, BIT-IIBIT, I_IBIHKa I_IBIHO‘IKI/I [IUHK, HHHHK IIUKJI, UPK,

HH(l)pa (a number) HHpKyJ‘Ib (a compass), HbIHJIeHOK (a chicken), L[bIraH (a gypsy man),
HHKJ‘IOH I_IyHaMI/I HyKaTbI (Candled fruit), K TaHHy (to a dance), I_IOK I_IOKOT (hoof beat),
HOKaTb (to chp clop), uaua HaH)IS{ (a heron), Hapb (a czar), L[apHHa

(a czarlna), HaHaTb (to snap), 1ex (a shop), HEHT, LEJIBINA (wWhole), Lienpa (lemon peel),
HeHHHK (a price tag), HeHKHH (clmgy), Heﬂb (an objective), LIETD (a Cham), HTHHa

(a bird), yJIHHa (a street), )IHLIO (a face), KyHbIH (dock-tailed), rJIyHeLI (a fool), KypHHa (a
hen)

! Vowel E is always stressed.
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Exercise 3.5. Read the following words and guess their meaning.

Note: Engllsh letter combination “~tion” corresponds to Russran letter combmatron «-IITUD»
peBOHIOI_[HSI HaHHﬂ (I)yHKHHSI I/IHJIIOCTpaHHSI KOJIJIGKI.II/IS[ 3BO)'IIOI.II/I$[ I/IH(I)OpMaLII/IH
peakuud, I/IH(I))ISIHI/ISI CI/ITyaI_II/ISI opraHH3aL[H51 z[eMOHCTpaL[Hﬂ ﬂeﬂerauﬂﬂ
]_[HBI/IJII/I3aHI/I$I CUuTyanud, akanud, CTaHIIHU4d,

Exercise 3.6. Read the following words, paying attention to the pronunciation of the letter M after
consonants 2K, Il and Y. Remember that consonants 2K, IIl and Y can never be followed by
the vowel bl in writing. The letter K that follows the consonants 2K and III should be always
pronounced as BI. The letter K that follows the consonant Y is pronounced as H.

}KI/I.T[ }KI/I}Ka )KHHI/I y}KI/IH XKHD, JII)DKH HO)KH HO)KHK I'II/I)KI/IK HbI)KI/IK prKI/IK
)KHBOT XH)KI/IHa ):[)KI/IH mrura H_II/IHa MEIIJ_II/IHI)I H.IPIH.IK& H.Iyp]]lHT IMHApOKa, IIII,
I_T_IHHOBHI/IK HalHHa ITUK, tII/IpI/IKEICT tII/IHI/IT YHH, Sa‘H/IH

Exercise 3.7. Listen the following words. Fill in the blanks with the appropriate vowel according
to the spelling rules.

Rule I: Consonants 2K , III and I are always hard, it means that they should be always followed
by hard vowels: A, ¥, O, 9, b, but 7K, III and L1 in Russian can never be followed by hard
vowels 3 instead they are always followed by E which should be pronounced as [3], and
consonants 7K and LI can never be followed by U, which should be pronounced as [»1].

Rule II: Consonant Y is always soft, it means that it should be always followed by soft vowels 4,
I0, E, E, Y, but in Russian Y can never be followed by soft vowels 4 and IO, instead it is always
followed by A and ¥, which shoul be pronounced as [g] and [10]

XK...6a, X...31, X...HaT, II...CT, 4...0€eca, 4....pTHT, 4...CTO, 9...Ma, 4...PH,
Maii...Ha, X...BOT, Il...pOTa, 4...1, 49...M, 4...CTHBIH, Y...JaK, I0ypml...T, X..p4HT,
4...CTHBIH, 4...C, 4...X, X...JHBIH, X....p, X...p, X....pHOB, X....pHaJ II....X, II....JIb,
I....JIBIA, II....IUTd, L....pH3M, II....T, I....IIb, II....pK, II....IUIEHOK

Exercise 3.8. Read the words reducing vowels O, E, 4 and A in the following words. In the
spaces provided write down the sound that should be pronounced in these words:

3a0bITO [ ] panom[ ], BbiBgubI[ ], BOIBI [ ], 3OHTHI | ], KOTHI [ 1,
gﬂHé)Kr[br[ 1, ngnbrTKa [ 1, SiCHQ[ 1, srrgr[br [ 1 erQ6br[ 1,

S6JI0KO0 [ 10 ], MOST [ ], TBOSI [ ], CBOS [ ], CTOSIT [ ], QTHHMaiH[ ],
MO&E[ 1, TBOE[  ],cBOé[ 1, moér[ ] moemy[ 1, moemy[ ],

)IgeM [ ], oeM [ ], MOCH [ ], TBOEH [ 1, CBOE [ ], IOHUMAET [ ],
rociaBbl[ ], MOO[ ], TBOO[ ], cBOO[ ], dmomeroseii[ [ ],
mecto[ ]l maco[ L 3emns[ L Bmepém[ 1, 6exur[ ] xeHa[ ]
xenynok[ ][ L wacosoi[ ][ L uacrora[ ][ ] 9publk[ ]
gueiika[ L gmpo[ L amepeso[ ][ I emmM[ ],

33



eIMHOTJIACHO [ 1[ 1[ ], €KEBHKA [ 1[ ], QM}; [ 1 €310K [ ],
xemanne[ ] pg6df1 [ ] Goeu (a soldier)[ 1], KOHEII (an end)[ ], aMngKaiHQH [
1[I 1, umenoBathb (tokiss)[ ][ ], umena (safe, intact)[ ], nemeHt [ ], uemouka (a
necklace)[ ], mepkoBb ( church)[ ]

Exercise 3.9. Listen and read the following sentences. Pay attention to the pronunciation of the
hard and soft consonants.

Taus NpUAET CIOI[Ei CdeQ. (Tanya will come here soon)

3&épHa yHéJIH Ha 3EMITIO. (The seeds fell down on the ground)

Jlsiz[ﬂ eleT Ha ﬂéqy. (The uncle is going to the summer house)

Hanst u JTsust pgmﬁ)m pan Bgnpéch. (Nadya and Lyalya have resolved a number of issues.)
BpéMH GEXHT Briepén [(prupén]. (The time is running ahead.)

4 HI(;pr u [leHnca HeT coka. (Nyura and Denis have no juice.)

Y cyﬂTéHa MHOTO K&H. (The sultan has many wives.)

OH TOII&N B KHHO. (He went to the movies.)

2Kénrag nenra nmpuss3aHa K MamuHe. (A yellow ribbon has been tied to the car.)

Exercise 3.10: Practice reading the following poem. Pay special attention to the pronunciation of
the underlined letters.

Pa3, nBa, TpH, ueTsIpe,

[pac] [umThIpH]
CQCHHTaeMl HBIPBI B CbIPE.
[cammTanm] [b chipu]

Eciu B cblpe MHOTO IBID,
[ chipu] [ mHOra]
3HAYHT BKYCHBIM OyI€T CBIP.
[pxycHBIM] [0y 11T]
Eciu B HEM O1HA z[blpai,

[amna]
3Ha4YMT BKYCHBIM OBLI Buepa
[bxycHBIM] [pumpa]

' Note: Combination of the letters CY is pronounced as LI (soft LI as if followed by the sound 1)
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Translation of the poem sounds as follows: One, two, three, four. Let’s count the holes in the
cheese. If there are many holes in the cheese, it means it will be tasty. If there is only one hole in
the cheese. It means it was tasty yesterday

IV. TPAMMATHKA. (GRAMMAR)
4.1.Gender of Nouns (continued)

Since you learned more vowels that may be used as endings of nouns, add nouns ending in
“-g” and “~H49” to the group of nouns of the feminine gender and nouns ending in “~-€” and *“-
#e” to the group of nouns of the neuter gender.

masculine neuter feminine
Zero ending (no vowel); -0; - €, - He -a, - 4, -ad
-"
crog|- OKH|-0 Mam|-a
TeaedOH|- Mopl-e JIbIH|-4
TpamBa|-# 3[aHH|-€ apMH|-g

The category of gender in the Russian language is absolutely arbitrary. But there are some
words that have two forms of gender to denote the real sex and gender distinctions which exist in
real life. These are mostly nouns that name people or animals:

“cTymeHT” (male student) — “CTyIeHTKa” (female student)

“Tarp” (tiger)- “THTpHNA” (tigress).

For the nouns naming people, these will be the names of nationality and some will name
professions:

“amepukaHen’’ (male American) — “aMepHKaHKa” (female American);

“yrauTeNn”(male teacher)— “yuHTeIBHHIA” (female teacher).
There has to be agreement between the subject and the predicate:

“OH — yunTenb” (He is a teacher), but

“Ona — yurTebHHANA” (She is a teacher).
However, many nouns denoting professions can be used only in the masculine gender.
Thus, the sentences “She is a doctor” and “He is a doctor” will look as follows in Russian:

“Ona - Bpau” and “OH — Bpaq”

2. Russian Names and Gender Distinctions.

All Russian names also have gender distinctions. Full Russian name always consists of
three components: a first name “HM”, a patronymic “OT4ecTBO” and a family name or, as we
call it, last name “chaMBIAL” as the following names:
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1)
VBan UBanona MBaHOB Hpuna UBanosHa MBaHOBa
HBan Cepreesny CMHpPHOB Hprna CepeesHa CMHpHOBaA

As you can see from these names, the masculine and the feminine forms have different
endings for the first names and the family names, and different suffixes for the patronymics. Male

first names usually end in a consonant and female first names usually end in “-a” or
q” Thus the names VBan|-, Bacum|-i, Haxomal-i will be the first names for males, while
p HH|-a, | g will be female first names. If Ivan’s father’s first name is also HBan
(Ivan) then Ivan’s patronymic will be ABaH|-OBHY. If Ivan’s father’s first name is Ceprel-

M, then Ivan’s patronymic will be Cepre|-eBHd. The patronymic is derived from a person’s
(13

father’s first name with the help of the suffixes “-~-0BHY” and “-eBHY” for males; -
oBHA” and “~eBHa” for females.

How do we know which suffix to use in which case? You have to look at the person’s
father’s first name and determine whether the stem of the name is hard or soft.

The first name ”HBar” will be a hard stem without any vowel ending, so to derive the
patronymic from this name, we will have to add suffix “-oBHY” or “-0BHA™ and we’ll get the
forms I/IBaH|0BHt{ (masc.) and IBaH|0OBHA (fem.). The first name _em| -i”, ending in a soft
consonant I/I will be a soft stem, the same as in the Russian nouns M| i”(museum)or

“rpam |—H (a street car). Therefore, to derive the patronymics from those names, we’ll have to
add suffixes “~eBHY” and “-eBHa” and remove the consonant M and we’ll get the forms
epre eBHY’’(masc.) and “Cepré|eBHa” (fem.). If a name ends in “~H#”, the form of the
derived patronymic will include a soft sign as in “BacHb|eBET” and “Bachiib|eBHA” derived
from “BacHuIm|-#”. When the suffixes are added to the stem “BacHiH|-#”, the consonant H is
removed and the vowel H is replaced by the soft sign [b].

Russian family names also have gender distinctions: the male family names end in a
consonant and the female family names end in a vowel “~a” or in a combination of vowels
(13 29 . .

-aqd" as in the following names:

HeTp0B|- — Ilerpos|- a

TOJICTl-on Toncr|-as

IIOCToeBCK|—nn IocToeBcK|-ad.
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V. GRAMMAR EXERCISES

Exercise 5. 1. Determine the gender of the following nouns. Write them down in three separate
groups:

Y‘{I/ITeJIb (a school teacher), apXHTeKTOp JIHI.IO (a face), HlKOJIbHHHa (a school student),
CTyI[eHT (a university, college student) aMepHKaHKa KaHaz[eu,

20701 (0) (an egg), MeKCHKaHeH, He60 (the sky), mucaTeb (a wrlter) IlI/IC)IO (a date)
anaTeanHua KOJIbI_IO (aring), BOJIGH6OJI)IHCT 6aCKeT60JIHCTKa 3e6pa

THrpHHa Ka(l)e HI/ICI)MO (a letter), 1OYb, BOCHHTaTeHb (a kindergarten teacher)

MBILIb (a mouse), OKHO (a w1nd0w) I/IH)KCHCP, MexaHHK Bpady, MGI[CCCTpa (a nurse),
HO}KapHI/IK (a fireman), TEXHHK, (a techn1c1an) crecapb (maintenance person) HOYb,
CJIOBApb, 3a1HHE (an assignment), paeanaHHe (an 1t1nerary) MeTpo (1)H3HK
JIOMOXO34iKa (a housewife), KOCMOHABT, KprJ'IbHO (a porch), comar, uyHaMH

Masc. nouns (OH) Fem. nouns (OHA) Neut. nouns (OHO)

Exercise 5.2. Form the feminine forms of the following nouns using the suggested feminine
gender suffixes:

9’ (13 ”

a) Suffix “HHAI”—*a” (the ending) as in yanenb ytn»iTeJIanua”

HﬂcaTeJIb(a writer) , uATaTeNb (a reader) ,
IperonaBaTeb (a university instructor) ,
yurTesb (a school instructor) , XYIOXKHHK' (an artist)

yUeHHK (a school student) , IIKOJIBHHUK (a school
student) , TIETUHK (a pilot)

b) Suffix “-K-“+ “—a” (the ending) as in “CTynéHT” — “CTynéHTKa”

KYPHAIHCT , AKTHBHCT (an activist) ,
KOMMyH}iCT , apTI/iCT (an actor) , My3bIKatHT (a
musician) , GH3HECMEH ,
POrPAMMHCT , IOPHCT (a lawyer, an attorney) ,
mBen ( a Swede) , puHH (a Finn) ,

MOCKBHUY (a muscovite)

¢

c) Substitute the masculine suffix “~eIr”” by the feminine suffix “~-K” + ending “-a” in the

following names of nationalities as in “aMepHKanen” — “aMepHUKaHKa”

KaHaacn , ACIIAHCILI R

HTATbSHEL] , Hemer] (a German) ,
MeKCHKZiHeH . HH(;HeH .
HpHéHHeH . H_IOT.TU:{HI[CH )

1 n the last four words the masculine suffix “~EK” has to be replaced by the feminine suffix “HIr’—“a” (the

ending), as in “XyIOXHHK- XyIOXHHIA” (male artist- female artist)
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HOpBEXKell , TopTyTaJjer ,
BbeTHAMeEI]

Exercise 5.3. Match the name of the country with the mane of the people who live in it:

1. HopTyré)H/Iﬂ 8. Urayms A. MEKCHKAHIIbI F. momianmms!
2. Mekcuka 9. lloTnanmus B. SmoHIbI 1. HOpBEXKIbI
3. Kanana 10. Ucnanns C. MpJIAH/ILbI J. BHETHAMIIBI
4. 'epmanng 11. dnoxuns D. mopTyrabiibl K. HTanbsHIbI
5. HopBérHﬂ E. ucnaHisl

6. Upnaumus F. HeMIbI

7. BoeTHam G. KaHamIIb

L. 2. 3. 4. 5 6. 7. 8 9. 10 11.

Exercise 5.4. These are the Russian first names. Circle the female names and underline the male
names:

Fpnrépnﬁ, HaTainbﬂ, AHTOH, HHKonéP”I, 3HHAHIA, BJ‘Ia)II/iMI/Ip, [1éTp, CD'éz[(;p,
AneKcain[p, AﬂeKcéHﬂpa, Wrnat, Makcum, Muxan, 309, Knpﬁnn, TaTbsiHa,
FépMaH, EBréHHﬁ, EBFéHHSI, JIMpiTpHﬁ, HﬁHa, Tapeic, HeiBe)I, EnéHa, Hropb, MapﬁHa,
AHﬂpéﬁ, Haz[éxma, Bopﬁc, CBCTJ’IEiHa, AHHa, I/IppiHa.

Exercise 5.5. What are the first names of these people’s fathers? Write them down.
FpHrépHﬁ AnTOHOBHY MBaHOB
Mapus I[erpusaa Mapkosa
Enena BukToposra Kacrinna
Antekceit MuXaiiioBHY AKCEHOB

Hanexna Uanosra KannbiOnHa

Harasnbs I'puropbeBa MakcuMoBa
Esrennit Hukomaesuu Hukonaes
Annpeit Anekcarnposuy Ilummos
Hukonaii [TaioBia SepHOB
Jliommita Bopucosra Iasiosa
Esnena AHnpeesHa BosHeceHckas

Exercise 5.6. Derive male and female patronymics from the following first names. Write them
down.

[T€Tp
Hukosait
UBan

Bopﬁc
MHuXauI
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Cemén

Cepreit

EBrenuit

AHTOH

AHﬂpéﬁ

Bacumit

Hukugop

['puropuit

Anekcanap
Maxkcum

Banepuit
IIMuTpui

Bsuecias [BHqHCﬂé(p]

[laBen

dénop
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INTRODUCTORY RUSSIAN
SECTION 4

I. STARTING A CONVERSATION IN RUSSSIAN:

1.1. INFORMAL GREETINGS

Use the informal question “Kak mena?” or its full form “Kak (y Te6s/ y Bac) nena?”’
with your friends, family and your fellow students. It’s quite appropriate for an instructor to ask
the same question of a student, but the reverse is inappropriate. The conversational phrase “Kak

nea?” means “How are you doing?” or “How are things?” It does not substitute a greeting, but
follows it.

“3paBCTBYI (Te), KaK nena?”

The response might not necessarily the positive one that you expect in American English
and which is best expressed by the words “Fine, thank you!” In Russian it may be

Cnacu6o, xopomd (well) 3molIpoBo! (great)
IIpekpallcHO ! (fine)
OtymaHoO ! (excellent)

These are very positive responses. There are also responses which are very neutral and
evasive, but polite responses to keep the person out of your business and indicate that you are not
in the mood to talk much on the topic of your life problems:

HI/IHCI‘(SI [HHYHBO]
HOpMéJIbHO (not bad, normal, as usual),
The familiar form of the natural follow-up question is «A y Te69?» meaning
“And you? ”
There are also responses in Russian that indicate that things are going not well for you:
Tak cebe
HeBaixcHo,
IInoxo
Huuero xopémero. (so-so, poor, bad, there is nothing good)
[EHumBO XapouruBsa

If you hear a pessimistic unhappy response to the question “Kaxk mena?”, you might
want to ask more to show interest in the person’s problem:

Hp&iBIIa? Hoqu);? [mounmy J(Really? Why?) and encourage him/her saying
Bcé Oymer Xopomro.  [¢cé 6ynut xapamo] (Everything will be fine)
The conversation might be the following:

! Pay attention to the pronunciation of this word where the letter «Ir>» is pronounced as [ B ]
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JIuza. — ITpuser, Bakrop!

BukTop. — IIprser, JTu3a! Kak mexna?

JI. — HeBaxwso, BHKTOD.

B. - HpéBna"? Hoquj‘?

JI. - He 3Ha10 q H3yqalo pyccxmd 93BIK, HO He IOHAMAIO MHOTO.
B. — 4 ToxXe H3y4alo pyccmm SI3I>IK

JI. — TIpaBna? TI)I IIOHHMAEMb pyccmm SI3BIK?

B. — Ila, mormMalo. Bcé 6ymer X0poIIo, JInza.

JI. — Cracu60, Bakrop. Io cBHIAaHHS.

B. — IToka, JTu3a!

1.2. DESCRIBING YOURSELF AND YOUR FAMILY

DTO MOd CEMbI
XKeHa MyX

0a0ymka M IeaymKa
MaTb/MaMa oTen/mamna
KEHIIAHA . ) MyXdHHA

-

D10 Mog 6abymka Emm3aBera IleTpoBHa

XKCHA H MyX
TETd K 904
I0Yb H ChIH

I10 Mog 1étd Ennena BukropoBHa 1 Mo#
nang Anekceit Hukonaesna

cectpa u 6par
N IUIEMIHHIA H TUIEMIHHHK
> BHYYKa H BHYK
Sy
, ‘ II09b H ChIH

I10 netu Karg u Cepéxa wim Ekateprna
AsekceeBHa H Cepreit AekceeBHY

D10 Mot nenymka Hukosnait UBanoBua

MarTh B OTell (MaMa H IaIla)
XEHA H MyX
TeTd | O90s

DTO MOH POAHTEIH MaMa
Amnacracug HuxonaeBHa 1 mama
Annpeii BacuibeBua

310 4. MeHd 30ByT Hatama mm
Haramps AnnpeeBHa



1.3. EXPRESSING OWNERSHIP

There several ways we can express possession or ownership in English. We can use the
possessive pronouns like MY and etc. or we can use a sentence : My car. I have a car. Russian also
has several ways to express possession that correspond to the English phrases above:

MO4 MaIlnHAa MOH IenymiKa

Y MeHd ecTh MaIIIIfiHa Y MeHd ecTh ACOyIIKa

The last phrase is used to express possession in Russian. It is translated into English as
“I have a car”, though the translation of the sentence is not literal . The more exact translation
of the phrase will be “To me is/belongs/exists a car” which sounds very clumsy in English, though
this explanation that draws parallel with English might help you to understand the construction.

The thing possessed (MAIIHHA) is in the Nominative case because it is the grammatical subject of

the sentence. The element «ECTB» is the verb “to be” in the personal form. It is one of the few
structures where the verb “to be” is used in Russian

The sentence “Y TebGsg/y Bac ecTh MammHa” means “You have a car”. The pronouns
“meHg” and “TeOg/Bac” are the Genitive case forms of the personal pronouns “a’ and

“TBI/BBI”’. You will study them in detail later in the course. For now you need to remember these
sentences.

V MeHS eCTh MAIIFHA. (the statement) (I have a car)
Y 1e6g/ yBac ectb MammHa? (the general question) (Do you have a car?)

Ha, y MEHd €CTh MaIlIMHA. (the positive response to the general question) (Yes, [ do. 1
have a car.)

Her, HeTy (the negative response to the general question) (No, I don’t)"

V tebg/Bac ecTh MallMHA HJIK MOTOITHKJI? (the alternative question) (Do you have
acar or a motorcycle‘7

V MeHd eCTh MAIIHHA. (the response to the alternative question) (I have a car)
Yroy TeOg/Bac ecTb? (the special question) (What do you have?)

Y MeH4 eCTh MaIlIMHA B OOM. (the response to the special question) (I have a car
and a house )

Kro y Bac/Teb4 ectn?

YMensg ectb cecTpa u Opar.
Exercise 1.1. Work in pairs. Ask you partner if he/she has the following objects or people:

Model: V TeGs ects MammHa? — Ila, ecTh
Her, mery

Use the followmg words for your questions:

KOManOTep, TeﬂeBnaop, JIOM, IpyT (a male fnend), Opar, ceCTpa

nonpyra (a female friend), KHHra )KypHaJI TeTpa):[b (anote book), yqKa (a pen),
KapaHzaal (a pencil), TeJIe(bOH KOT, IacrnopT, BH3a HOKyMeHTbI

! For this question we have to learn only the short answer for now since the full answer requires the use of the
Genitive case that we have not yet studied.

42



30HT (an umbrella), 6é6yu1Ka, ﬂéqepH.
II. RUSSIAN ALPHABET. LETTERS AND SOUNDS

2.1 H I ft Consonan

As it has already been mentioned in Section 3 the Russian letters I, b, @, B, T, II, K, T,
C, 3, X, M, H, JI, P are used to denote both hard and soft consonant sounds. In other words,
each of these letters may have two pronunciations, depending on its environment - the vowel that
follows it. Thus, the letter B will be soft in the word “BHTOK”(revolution), while in the word
“BBLI” (howled) it will be pronounced as a hard consonant. We have an opposition of [B—B’]. In
phonetics, the softness of the sound is marked by a stroke as in [B’]. See Table on page 23.

What is the difference in pronunciation of hard and soft consonants? You know that in
order to pronounce the consonant B, you touch your lower lip with your upper teeth to form a
complete obstruction like in combinations of sound BA, BY, BbI, BD, BO. In pronouncing
sound combinations BSI, BIO, B, BE, BE, you form the complete obstruction in the same way:
by touching the lower lip with your upper teeth. At the same time, the middle part of your tongue
raises towards the hard palate preparing to pronounce the following vowel H or the U element of
the diphthongs 4 [#a], FO [ity], E [#5], E[#0]. The raising of the middle part of the tongue
towards the hard palate, which is called palatalization, produces a softening effect on the
consonant B. In this case, we will pronounce a soft or palatalized variant of the consonant.

In the word “mdTen” (a wood - pecker) there are 3 consonants. The two of them “I’” and

({3 ]

T” will be soft, because they are followed by softening vowels, while the consonant “JI”° will be
hard; it is not followed by any vowel.

In the word “ropKa” there are 3 consonants, and all of them are hard.

2.2.The Soft Sign «b» T—E

Consonants are also pronounced as soft when they are followed in writing by a soft sign
({3}

b”’. The soft sign “b”" is a letter that represents no sound. Its presence in a word indicates that
the preceding consonant is pronounced as a soft one. As in the following words which differ only

in the pronunciation of the final consonant «JD):
eJ1 (he ate)- €JIb (spruce)

How is the soft JI «1’» different in pronunciation from the hard JI «m)?
What should one do to make the consonant JI sound soft? You have

already learned that in order to pronounce JI, you form a complete
obstruction tothe air stream from your lungs with the tip of your tongue
e and the upper teeth. To make JI sound soft, while moving the tip of the
tongue to touch the upper teeth, you simultaneously should raise the middle

pm tongue towards the hard palate, as if you are preparing to utter the sound H after it.

To make it work, you might even want to pronounce a very short M after it, but don’t make it
sound long or very distinct.
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HTH —TH — TH — TH — Tb
HCH —CH—CH—CH—Cb
H3H —3U - 34 — 3H — 3b
HUMH — MH — MH — MH — Mb

WHU — HU — HU — HH - Hb
WUJIH — I — JIH - A — Jb
WU — IIH — IIH — IIH — TIb
nou — Ou — OH - Ou - Ob

The soft sign always follows a consonant. It may be the final consonant in the word, as in

“enp”, or in the middle of the word, as in “r(;pbKO”(bitterly), «BO3BMM (take!) Sometimes
the soft sign in the word might be followed by a vowel, as in “CeMbs” (family). In the last case
the soft sign will soften the consonant “M”’, not the vowel “4””. The “H” element of the
diphthong 4 [#a] will be pronounced distinctly because it won’t merge with the preceding
consonant M, as it does in the word “céMSI” (seed). The soft sign «b» in the first word also

separates letters M and 4 in pronunciation thus performing the dividing function. Compare the
pronunciation of the following words:

ceMbd [cEM'H4] - cems [cemd]

MbI — MHH — MbH
Ma — MHAa — Mb4

MYy — MHY — MBIO
MO — MHO — Mb€E
MD — MHD — MbE
MH — MbH

M4 — Mbd

MIO — MbIO

ME - MbE

M€ — MbE

Thl — THH — ThH
Ta — THA — Th4
Ty — THY — TbIO
TO — THO — ThE
T3 — THD — ThE

Ta — Thd
TH — TbH
TIO — ThIO
TO — ThE
TE€ — ThE

OBl — OMH — ObU
Oa — Oma — Obg

Oy — 6uy — Ob10
00 — 610 — OBe
0> — Oud — Obe
OHn — ObH

0d — Oba

010 — ObIO

0¢ - One

Oe — Obe

Chbl — CHH — CbH
ca— cHa — Chd
Cy — CHY — CbIO
CO — CHO — CbE€
CH — CHD — Che€

ca — Cb4
CH — CbH
CIO — CbIO
CE - Cbe
Cce — Cbe
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bl — ITHH — IIbHU
a — Mya — b4
Iy — [IAY — IbIO
10 — MHO — NbE
1D — [IUD — [bE

U — TIbH
s — Ibsl

IO — TbIO

€ - Mbe

ne — nbe

bl — ¢pun — pbu
da — ¢pua — poa
by — puy — dpio
dho — ¢puo — pné
$> — pud — pbe
da — ppa

bu — bbu

¢ — pbio

Geé - pné

de - poe



There is anothe si,g'h,_iﬁ_flhe Russian alphabet - a hard sign ““b”". It occurs only between a

consonant and a softening vowels I, E and E. Its presence in the word emphasizes the fact that
the consonant followed by a softening vowel is not pronounced as a soft one; it remains hard. The

€29

following vowel is not merging with the consonant, thus retaining its first element "H . The hard
sign as well as a soft sign performs a dividing function separating a consonant and a vowel that
follows it. Compare the pronunciation of the following words:

OGbaBieHAe [a0diaBaerre] (advertisement)
O6bgarue [00’#igTHE] (embrace, hug)
O06g3aH [a0g3aH] (must)

These words differ in the way the consonant b and the following vowel 4 are pronounced.
In the first word, the consonant b [0] is hard because it is followed by the hard sign [B], and the
vowel doesn’t merge with the preceding consonant and retains its initial element [H]. In the
second word the consonant b [0] is soft because it is followed by the soft sign [b], and the vowel
doesn’t merge with the preceding consonant and retains its initial element [#]. In the third word,
the consonant b [0] is soft because it is followed by a softening vowel, which merges with the
preceding consonant, and its initial element [#] is not pronounced.

049 — Obg — Obd Cd — Ch4d — Cbd 39 — 3b9 — 3bd B4 — Bb9 — Bb4
O€ - Obé - OBE Cé - Cbeé - CBé 3€ - 3b€ - 3bE BE — BbE — Bbe
Oe — Obe — Obe Ce — CbE — Chbe 3€ — 3b€ — 3b€ BE€ — BbE - BbE

2.4, Spelling and Pronunciation Rules:

You can often see the soft sign [b] after the hard consonants III, 2K and a soft consonant
Y in many Russian words:

OTpé)Kb (cut off), I‘OBopIrinIb (you speak), IIPOYb (away), Ubd (Whose), Ub€ (whose),
YbH (Whose), DOYb (a daughter), HOYb (a night), MBIIIb (a mouse).

Positioned after the hard consonants 2K, III, the soft sign [b] is there only for correct
spelling. It doesn’t make the preceding consonants soft. In words, where the soft sign [b] follows

the soft consonant Y, it doesn’t fulfill its function either. The consonant Y is soft by its nature.
You will have to remember the spelling of those words.

2.5. Consonant III. 1& “ Ll.(f

When articulating the consonant III, the whole tongue moves forward. The tip of the
tongue is slightly raised. Its middle part is highly raised towards the hard palate, creating a convex
form. The back part of the tongue is lowered. Lips are slightly stretched. Remember! Consonant
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III, is always soft no matter what vowel follows it in writing. It is also always unvoiced. It does not

have an voiced counterpart. Pay attention to the position of the consonant III in the general
classification of Russian consonants reflected in the table below:

voiced hard | B | T | O | 3 | B | X II M |J|P|H

soft | B> | |I’|3|B | ? 2 M T P/

unvoiced |hard | [T | K | T | C | ® |[II| X | ? ?

soft |I’ K| T|IC|®|? | X | |1

HIIIHU — IIIHU 11 HIIT bIIIIK — allla — YIOY — OH.Ié - HIIIHN
euie — e me S
alia — 1ia Ima alt
yury — 1y my ym
ouie - me me S11

2.6. Spelling and Pronunciation Rules.

Remember that the Russian consonant I is always soft. In spite of this, in writing it can
be followed by hard vowels A, ¥ and O. If hard vowels A, ¥ and O follow it, these vowels
have to be pronounced respectively as I, KO and E . Consonant III can never be followed

vowels D, BI, 4 and O in writing. Consonant III, can be followed by both vowels O and E. You
will have to remember the spelling of the words. The following table shows the vowels in

parentheses that cannot be used in writing after the consonant III;

hard vowels A 0 Yy ®) (bI)

soft vowels ( q ) 1) ao) E U

Sometimes the consonant Il is followed by the soft sign as in the word Bemp (a thing, fem.).
The soft sign [B] in this word is there only for spelling, it doesn’t make the consonant III soft; the
consonant is soft by its nature. You will have to remember the spelling of these words.

The consonant III is often mistakenly confused with the consonant III. Their articulation is
very similar. But the consonant III is soft and the consonant Il - hard, which means that any
vowel that follows II will be pronounced as [4], [10], [€], [€], [®], while any vowel that follows

IIT will be pronounced as [a], [y], [2], [0], [pI] accordingly. It might be useful to practice
pronouncing these consonants in combination with the following vowels. The difference in their
pronunciation is more obvious in this case. Compare the pronunciation of the following words:

vama [wanr’s |- kama [Karma] mryKa [Ir'oKa] — myTka [myTka]
1meJib [1'esr’ |- mecTh [T’ | mérka [1r'érka ] — momés [ marmon|
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A 1M | — LA [ITBLI |

Consonant clusters CH4, 34 and 2KY are pronounced as III, as in

cocunTaeM [camr’ uranm]
IPy34HK [rpyIrHK]
MyZKYHUHA [MYIIl UHA |.

I1I. READING AND LISTENING EXERCISES
Exercise 3.1: Listen to the syllables two times. When you are listening to them for the second time
circle the syllables that you hear:

l.Ta—Ta—Tbd  2.cCa—cCd—Chd 3.00—-0¢€-0b¢ 4.1y — 10 — Oplo
4.pp—pe—pbe 5. My — MIO — MBIO 6. HO —HE - HBE 8. Iy — JIIO - JIBIO
9.m>—ne—mnbe 10. TbI — TH — TbH 11.3a—39—3ba 12. ¢y — 1o — Ppsio

Exercises 3.2: You will hear the couples of words either absolutely identical in pronunciation or
almost identical in pronunciation with the only difference that the final consonant of one of them
is soft and the final consonant of the other is hard. Listen to these pairs of words carefully and
determine whether you hear identical or different words. If you hear identical words put down
“+” if you hear different words put down “—*

1. 2. 3. 4. 5. 6. 7. 8. 9. 10. 11. 12.

The Key: 1. 3aBUTb — 3aBUT 2. OyT — AYT 3. €CT —eCTb 4. CIOp — CIOPb 5. CTa1 — cTa 6.
ObLT — ObLT 7. gaj — najb 8. mycT — nyct 9. nan — nanp 10. 09t — n9Th

11. xectb — xkecT 12. mecTh — mMecTh
Exercise 3.3. Practice reading the following pairs of words paying attention to the different
pronunciation of final consonants:

el — ellb €CT — eCTb J1e3 — Jie3b

TOII — TOIb BUT — BUTh IPHOHT — NPHOHTD
OuT — OUTD CbIH — CHHb cag — c4Ib
LIECT — IECTh OpaT — OparThb KJlag — KJIaIb
IyT — 1yTh Mar — MaTb pab — ps0b
roJ — rojib Mel — MeJIb KPOB — KPOBb
4T — N9Th KOJI — KOJIb CIOp — CIOPb
0C — OCh MBIT — MBITh TOTOB — TOTOBb
YIOJI — yrob )L — Najb JIaH — NaHb
7€H — JIEHD nag — namp' CTaJ — CTaJIb
ObLI — OBLIB NyCT — MyCTh yObLL— yOBLIB
Bep — Bepb

! The voiced consonant followed by a soft sign at the end of the words has to be devoiced according to the general
rule
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Exercise 3.4. Practice reading the following pairs of words paying attention to the different
pronunciation of the underlined consonants in the middle of a word

BOJIHA — BOJIbHA KOJIKO — CKOJIbKO

NOJIKA — MOJBbKA BapkKa — Bapbka rOpKa — ropbKo

OyJika — OyJIbKaTh MEJIKOM — MEJIBKOM TOJIKOM — TOJIBKO.

Exercise 3.5. Practice reading the following pairs of words paying attention to the different

pronunciation of the underlined combinations of consonants and vowels:

ﬁﬂKa Bopoﬁbﬂ T4Th — IbgH, xom CTaTbﬂ

nﬂgg cyg_ CEMS — CeMbS, TOCTE — TOCTbS, TETd — THTBES, KOCH - KOJIOChS
TIECHS — Ibeca

6€npa — ObET, M€K — MBET, BE3 — BBET, A& — JlbéT

GIOCT OBIOT, z[eGIOT y6bIO TCTIO CTaTbIO )Kemo CBI/IHI)IO

CEMH — CEMBH, KATH — CTATBH, CyIH — CyIbH, TOHH - CBHHBH

Exercise 3.6. Practice pronouncing the words with the soft sign paying special attention to the
devoicing of the underlined letters.

1
Enb, ecTb, 1€3b, TOIb, BUTh, IPUOHTD, OUTh, CHHb, C4Ob, IIIECTh, CECTh, PEXb , POXb,
IpOXb

penbKa, HIHbKa, XoOb0a, 1oJib3a, [lonbina, TroppMa, JIbBoB, Punanenbdud,
[TeTpka, Butbka, myapka, 0a0ysbKa.

CEMb4l, MbSH, TOCThS, /b, Oallbs, NIPY3bs, CTaThs, CKaMbsd, TaTbhsiHa, Ky(b4,
JCTB, CTYJibs, Codb4,

1JiaThe, yueHbe, UMEHbE, ITbeca, Kyphep, Kapbepa, CTaThe, CyIbe, CKaMbe, YCThE,
JIbET, MbET, BHET, XKUBHEM, 0a0bE

BBIOHOK, ObIOT, CKaMblO, CTAThIO

CyIbH, CTaTbHU, CKaMbH, CBUHbH

Exercise 3.7. Out of each pair of words only one will be read to you. In each pair of words circle
the one that you hear:

1. IHIIH - THIIH 2. HI/IH.I}; - HI/IH_I}; 3. myp - myp
4. oK — MmEK 5. my0 - myn 6. IPOLLY — IIPOLITY
7. WENK — WENK 8. 1N — I 9. mmon — oIl

! Remember that XK is always hard
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Exercise 3.8. Practice pronouncing the following words paying attention to the different
pronunciation of the consonants IIl and III followed by a vowel:

Tumm — HI/IH_II/I nmuy— nnmy, IIEJIK - IIENK, npomy npomy,

EepCTh — H.IGpHTb IIApUK — H.[EiBeJIb IIUI — U, 11y0 — 11y, Hlypa LuyKa
LIyTKa — 10yp, WENKa — MENKa, mopox IIEJIOK, OK — MIEK, JICIIHUA — HULIHH,
TLTIOLI — IUTIOL, IIEPCTKA — IIETKA, LA — IIH, maan — Home{z[a, pemeTKa — MmETKa,
OTHOITICHHE — yroméHHe, Balll — IJIAII, Ma>Kb — MOIIb, BOILIb — 6Bom, JIOXXb — 0op1,
elllb — JICIII

Exercise 3.9. Listen and practice reading the following words. Remember that the letter A will be

pronounced as [9] and ¥ will be pronounced as [10] after the consonant IIl. Remember to
reduce the underlined vowels:

WIIIH, ITAIIH, CBUIIIH, BOIIMHA, HUIIIUH, HIEHKa, BOIITAHKA, pOIla, Iylia, IyIa, uIiry,
MUY, HaBeIly, IPOIy, Yyromly, OTIyIly, METKA, MENKa, MEIKATh

LM, NITHII, ITHTOK, meKa IJ_I_FO)I IJ_IeFJIeHOK meKonz[a Lue6eTyH Lue6eT 11eJIb,
IIENKa, H.ICI[prI/I mepHTb Iy, Iyp, myKa mynaTb IIYTUTBIH, IENK, MENKa,
HIeJ'IKaTb H.ICFOJ'II) IENIOK, MEKH, XKEHIIHHA

Hmymnn BMeLuanmHH ETKAOIIHH, 3amnmafomnn

OBOIII, JIEIII, 3p41, TUTIOLI, IUTam, OOpII, MOIIb, HOMOHIb BElllb.

Exercise 3.10. Read the following words paying attention to the different pronunciation of the
words with the hard sign:

Cen — cpen CéMKa — ChEMKa 39Th — U3bSH

OIeXa — MOObE3N obenatb — 0OOBEKT.

Exercise 3.11. Read the following words paying attention to the different pronunciation of the
words with the soft and the hard signs:

O0e3bgHAa — OOBIBIICHHE
0000bEM — 00BEM
oTpedbe — 00BexaThb

Exercise 3.12. Practice reading the following words that have the hard sign. Remember that the
preceding consonant should be pronounced as a hard one. Pay special attention to devoicing or
reduction of the underlined sounds. In the spaces provided write down the required pronunciation
of the letters underlined:

I/I3LsiH, H@@bsiTHblﬁ[ 10 1 Hgﬂbé3ﬂ[ 1M1 gTLé3g[ 1l 1, cbem,
g61>égKH[ 11 1 I/I3’bgBI/in[ 1 I/I3’bg3BI/in[ 1 Q6LgCHsin[ 11 1
Q61>gCHéHHe[ 1 1, 00EM[ ], Cy6'béKT, g61>éKT[ 1, Q6bngin[ 1M1
Q61>anéHHe[ 101 paabgCHsin[ ], pasbgCHéHHe[ ],

Q6LQKTﬁBHQCTb[ 1M 1 b QGBéxaTb[ ], cbe, amaIOTéHT, I/IH’béKI_[HSI
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Exercise 3.13. Read the following words. Circle the words in which the soft sign «b» is there only
for correct spelhng

Houp, TeTpab, KpOBaTb HOYb, MOYb, C.TIOBapb qum)cg H_IbeT MBET, HATTBEM,
TOBOPHIIIb, PEXKb, POXKb, KOJIOTb, 3I0pPOBbE, UbE, NPOKb, IIATh, PYXKbE, pyqbu
BHOBb, CHOUpB, TeCKapb, IPUHOCHUIIIb, BECh, I€Hb.

Exercise 3.14. Determine which consonants are hard and which are soft in the following words.
Pay special attention to the consonants 2K, III and Y. Circle the soft consonants and underline the
hard ones:

}KypHanHCT BaLLerTOH CIJHJIaz[eJIb(pHﬂ yHHBepCHTeT F0p6aqu

pecny6J1HKa JIHTepaTypa )KHpa(I) KJIapHET, TCJIEBU30D, TaCOBHS (a chapel),
HOpTyra)II/ISI KU3Hb (life), HMCTOPHSl, XUMHSI, XOPOLLIO (well), qachl (watch clock),
‘{apOI[eI/I (a magician), I{y)KaK(astramger) XKepeOEHOK (a colt), 3asBIICHHE (a petltlon),
OOBSICHCHHE (explanatlon) Hp06beM (we'll break through), TIBIOT (they drink), JKHMOJIOCTD
(honeysuckle), quHpe (four), IEBATH (nine), I[CCHTB (ten).

Exercise 3.15. Practice reading the sentences and the phrases:

Ha ckambe MEI. (there is honey on the bench)

[T€Tp nbET Bech NeHb. (Peter has been drinking all day long)

[ISTHI TAH MHSH. (The fifth lord is drunk)

Wibs Hpoz[éﬂ uMeHbe. (Ilea has sold his estate)

[lecHs B mbece. (the song in the play)

OTH JII(;I[H JBIOT CTaJib. (These people make steel)

Cotbs IBET Koe B Kade .(Sofia is drinking coffee in the coffee- shop)

Ha peKé YK€ JI€n.(There is ice on the river already)

Kats - roctbst TaThSIHBL (Katya is Tatyana’s guest)

ILoXKIb JIbET KaK U3 Beﬂpai. (It’s raining cats and dogs)

Hama Ang - 661‘};HI>$I. (Our Anna is a runner)

ném nomoit! (Let’s go home)

YueHbe - CBET, a HeyqéHbe TbMa. (Proverb: Knowledge is light, ignorance is darkness)
ﬂpbeﬂ IO3HAIOTCS B bere. (Proverb Mlsfortune shows who is your friend)
Io rwiaThio BCTpeanOT 1o yMy HpOBO}KaIOT (Proverb: Appearances are deceiving)
['me mm — Tam HaC HIIIH.

(You’ll find us at the places where the food is)

[lu na Kallla — MHIIa Halla.

(We eat simple food cabbage soup and grain)

He 651710 GBI CUACTBS, 4 HECUACTbE TTOMOLJIO.

( Every cloud has a silver lining)

YacoBmwm [ K, npuiy [JpuB 1J1a3, Squiting his eye the watchmaker
[uncadium! 1k mpumry [ pud riac]

Yu [ JHUT yal lCUKHU 119 HAC Repairs the watch for us
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Exercise 3.16. Practice reading the following poems:

HaBappina H_[};Ka IIeH, The pike has cooked a cabbage soup
Yromiaia IBYX gpméﬁ. And invited two rockfish
[yramana nByx WupIe]
Pacckasaiy HaMm gpLHI/i The rockfish told us
[HnpH |
Mn y IJ_I};KI/I XQpQLHI/i That the pike’s cabbage soup was good
[xaparH]

Exercise 3.17. Learn to pronounce Russian numbers from 1 to 10. Pay attention to the
pronunciation of the underlined letters:

Onuu [anuu](1), nBa (2), Tpu (3), ueTsipe [untbipu](4), mats (), mecTs (6), cems (7),
BoceMb [BocuM’] (8), neBdTh [A€BHUT’ | (9), necars [necut’] (10)

IV. TPAMMATHKA. (GRAMMAR)

4.1.Gender of Nouns (continued).

It will not be necessarily easy to determine the gender of the nouns that end in a consonant
followed by a soft sign [b] because they may be either feminine or masculine. The nouns that end
in 2K, III, Y followed by a soft sign [b] are usually feminine, for example, HOYb (a night), HOYb
(a daughter), pOXb (rye), MbIIIIb (a mouse). Other nouns ending in a soft sign have to be
remembered. For example, C.HOBépb (a dictionary), IEHb (a day), y JTOJIB (a coal), KOHb (a
stallion) are masculine nouns and TesziIIb (a notebook), KpOBa:Tb (a bed), MaTh (a mother),
IIbUTH (dust), KPOBB (blood), XH3HBb (life) are feminine nouns. If you are in doubt about the

gender of a noun ending in a soft sign, you’ll have to look it up in the dictionary. Next to the noun
there will be a letter (F) or (M) for feminine or masculine gender.

4.2 Foreign Nouns.
In every language, there are words which have been borrowed from other languages. In the

English language, only 30% of words are the words of native stock; the other 70 % were borrowed
from other languages. Some of the words have successfully assimilated to the norms of the English
language and are no longer perceived as foreign. For example, the words like to “ski”, “skull”,
“skill” were all borrowed from the Scandinavian languages, but we perceive them as regular
English words. There is nothing in their pronunciation or spelling that contradicts the norms of
modern English language. The words like “hors d’oeuvre” and “coup d’etat” definitely look
foreign to a native English speaker. Nouns that were brought into the language and have not yet
assimilated to the existing norms of the language are called foreign words. There are foreign

words in the Russian language as well. There are some of them: “TaKCH’ (taxi/cab)(n),
“KeHI'yp};” (kenguru)(n), “MeTpo'” (subway)(n), “pa:nno”(radio)(n), « K(;(be”(coffee)(m),
“Ka(be,”(cafe)(n), “TOpHa:IIO”(tomado) (n.), “aBeHI(;” (avenue) (n) , “pe(bepﬁ” (referee) (n). As
you see, all of them, except “K(S(l)e”, are of neuter gender. These nouns do not form the plural
forms as do all other Russian nouns. Their plural forms are the same as the singular.
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4.3, Words Naming Family Members and their Gender.

There are several words that you already know that denote family members and there are

some new words:
females

MaTh/MaMa (mother)
no4yb(daughter)

cecTpa (sister)
0abymika (grandmother)
XeHa (wife)

TET (aunt)
IUIEMIHHHUIIA (niece)
MY2KUYHHA (man)

males
oTen/mamna (father)
CBbIH (son)
Opart (brother)
Jenyuika (grandfather)
MYXK (husband)
o4qa4 (uncle)
MJIEMAHHHUK (nephew)
JKEHIIUHA ( woman)

Some Russian nouns ending in “~-a” and *“~9” name persons of male sex as “mama” (a
daddy), "memymKa™ (grandfather), “My>K4YHHA” (man/male), “cJyra” (servant),

“loHOmA” (young man) or “mdgAg” (an uncle). These nouns are considered masculine nouns
though their endings look like feminine ones.

Russian nouns that end in Y, III, III, 2K followed by a soft sign [b] are always feminine.
Bemb(a thing), MOIIb (might), HOYb (night), MBI (a mouse), POXKb (rye)

4.4. Gender and Russian Names. (continued)

Almost all first Russian names have a number of “short” forms or diminutive nicknames.
Compare English “James” and “Jim” and Russian “MBal” and “BaH4”. Both masculine and
feminine forms of the nicknames end in “~-a” or “-” as in Mapusg — Mama, Muxaw -

Mmuma. Men’s nicknames ending in “~-a” or “~&” are considered masculine gender nouns though
their endings look like feminine ones.

Russian First Names and Nicknames.

Male

I/IBeiH, Bans

Bacuumit, Bacs
HHKonéﬁ, Ko
BukTop, Buts
Bsuecas, CraBa
IOpuii, I0pa
AHaTéan”I, Tons
Bnaz[piMHp, Bosons, Bosa
AJtekceit, Anéima
Angipeii, ARIproma
KOHCTaHTﬁH, Kocrs
I[MI/iTpHﬁ, ,[[ﬁMa, Murs

Female
HaTzinbﬂ, Haramma
Exarepuna, Kara
Onbra, Ong
TaTbsiHa, Tans
Beponwka, Bepa, Huka
AnHa, AHg
JTi0608b, JTi06a
EBFéHHH, Kens
BasienTiHa, Bans
Ceerana, CBeta
Cobst, CoHst
Mapﬁs[, Marma
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Muxamu, Miuia
EBrenuii, Kens
Cepreit, Cepéxa
[1éTp, Iers
FpHrépHP’I, Fppima
Cemén, Cens

Anexcannp, Canra, IlTypa

Oner, Onexxka, AUk
[TaBen, [lama

Hapﬁca, Haipa

Haz[éma, Hans

Taymna, Fans

3HHaPi)1a, 3Ha
.HIOIIMI/iJIa, Hléz[a, Muia
EnéHa, Jlena
Anekcannpa, Cara, Illypa
Hpuna, Upa

Iappg, Hamra

The Russian names that don’t have nicknames:

Male

Hropb, AHTOH

Female

Huna, Mapuna, Heng

4.5. Gender of Russian Nouns. Summary.

The following chart summarizes the category of gender of Russian nouns.

Nouns | Masculine Neuter Feminine
Nouns that end in a Nouns that end in—0 and | Nouns that end in —A and
consonant, - M, some —E, the majority of the -4, some nouns ending in
nouns ending in a soft foreign nouns a soft sign b.
sign b, and some
masculine nouns:
names of people and
words of kinship
Hard | cron| (a table) OKH|0(a window) KHHUT|a (a book)
stem | crynenT]| (a student) JU11)o (a face) MBIII|b (a mouse)
mar|a (a father) MeTp|o (a subway) Mamn|a (short for Maria)
Camla (short for
Alexander)
Soft | rpamBali (a street car) | moJile (a field) IbIH|A (a melon)
stem IeH[b (an uncle) Mople (a sea) apMH|d (an army)
Burl|d (short for 3nanule (a building) Marlb (a mother)
Victor) Kadle (a cafe) 104k (a daughter)
Mapu|g
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4.6. Gender of Russian Pronouns

You are already familiar with personal pronouns g (I), THI (you- sing.), ol (he), oHa (she),
OHO (it), MBI (We) , BHI (you- plural), oHH (they) . There are also possessive pronouns in
Russian, which are equivalent to English possessive pronouns, eg. English my and Russian

MO#/MO9/MOE/MOH. Possessive pronouns are always followed by a noun and they have to
agree with the following noun in number, gender and case. The following table illustrates the
agreement of the Russian possessive pronouns with the following nouns in gender and number

Masc. Fem. Neut. Plural

My, mine Moii cton Mog KHura Moé muceMo | MoH cToJ1bI
Mou kauru
Mou nucema

4.7. Russi T

The initial form of the verb in Russian is the infinitive. Infinitive is the name of an action, process
or state, which is not referred to a grammatical person. While in English, the sign of the infinitive

as the particle “to” as in “to run”, in the Russian language the ending “~Tb” indicates the
infinitive of the verb. For example: “m[Tb” (to read), “IIOHIfIMEﬂTb” (to understand),
“H3y4alTh” (to study), “3Ha|TH”(to know), “moBTOPH|TH [HadTapHT’] (t0 repeat,

to review), “mrrb” (to listen), O’I'Beqa:|Tb [aTBIfI‘I’iiT’](to respond, to answer),
00BCHS|Th [a6|iHCHST ](to explain)

The actions, processes and states in real life are usually tied to a person or an agent. There
are six grammatical persons to which the action, process or state named by a verb can be referred.
This process is called verb conjugation:

The Singular The Plural
1. g mkﬁ (I read) 1. MbI mﬂ—eiM (we read)
2. THI m|—m (you read) 2. BbI mﬂ—m (you read)
3. OH (OHei, OH(;)m|-e_T (he, she, it reads) 3. OHH mﬂ-m (they read)

As you see from the example, the conjugation of an English verb is not very complicated

due to the fact that the English language doesn’t have endings except for “~s” in the 3" person

singular. With Russian verbs, you can see that they have a set of six endings (“~10”, *“~-emn”,

(13 2% €¢ 2% €¢ 2% ¢¢

-er”’, “-eM”, “-ere”, “-10T”’). These endings are the same for a large group of verbs; therefore
they have to be memorized. The ending is added to the stem of the verb. To get the stem, you have
to drop the ending “~Tb” of the infinitive and add the proper ending to the remaining stem

“umra-*.

V. GRAMMAR EXERCISES
Exercise 5.1. Determine the gender of the following nouns. Use the dictionary if necessary:

maHopama , armapar , MalllMHA___, MOJIOKO__, yal __, MapK__,

KatacTtpoda , CJIOBO__, BoAa_, I3bIK__, MSICO(meat) , CBIH__, 0JI0KO (an

apple) _, mosie(meat) , €X (a hedgehog) , uepemaxa(tortoise) , MaTb__, CJIOBapb__,
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MBIIIb__, My3€U__, TOpPHAIO , OKHO __, OObsBJIcHHE (an ad) _, CeMbS__,
Kupad_, apMHd__, HOBOCTh(an item of news) , €Jib(a spruce) , IeayIIKa
TaKCH___, BHUMaHHE (attention) , cyacTthbe (happiness), IIyKa (a pike) , mams(a

heron)__, HOYb (a night)___, YUUTEJIb (a teacher  , I€Hb (aday)__ , 9UIIO (anegg)
KOJIBIIO (aring)  , TIECH4 (asong)_ , yJIMIA (a street)  , KOHLEPT (a concert)
TETpanb (a notebook)  , TeqeoH__ , Agnd (anuncle) , TETS (an aunt) ,
MYyZKYHMHA (an man)___, KJIeH (glue)  , HOXK (a knife) , moysuuug (police) .

Exercise 5.2. Match the following nouns indicating feminine and masculine gender forms of the
same word:

M ine n

aKTep , HCIIaHeIl ,

>KYPHAJIUCT , KOT , THAMHACT ,
MACCaKup , CTyIIeHT , TEHHUCHUCT ,
TYPHUCT , TacaTeib (a writer) ,
aMepHKaHell , UATATENb (a reader) ,
npozasel] (a salesman) , KaHaeIl

Feminine nouns:

KOIIIKa, KaHaJKa, aKTpHca, TYPHUCTKa, CTYIECHTKA, YNTATCIIbHUIIA,
MMUCcaTeJIbHHUIA, XKy PHAJIUCTKA, HCIAHKA, THMHACTKA, aMEpHUKaHKa, MacCakupKa,
TEHHHUCHUCTKA, MpOoJaBIIHIA

Exercise 5.3. Supply the missing words - names of family members

females males
MaTb/MaMa (mother)

no4b(daughter)

opar (brother)

0abymika (grandmother)

MY2XK (husband)

TETY (aunt)

IJIEMIHHHUK (nephew)

2KEHIITKWHA (woman)
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Exercise 5.4. Insert the appropriate forms of possessive pronouns into the following sentences:
Model: 310 ........... KOMHAaTa
DTO MOH KOMHATA.

A. Moii, mog, MOE, MOH

1. DT10....... CTOIL. 2. DTO .....pYUKH (pens). 3. D10 ...... MamuHa. 4. 910 ...
KOMHI)KSTep. 5.910 ......... IHCbMA H ra3eTH (letters and newspapers).

6. J10....... yuntenb. 7. D10 ....... yuMTeNbHHUIA. 8. DTO ........ Marhb.

9.910 ........... oren. 10. 910 ....... opar. 11. D10 ....... cectpa. 12. D10 .......
MPenonaBaTeb.

Exercise 5.5. Write down the words for the following Russian numbers:

- 4- 2-
6- 10 - 3-
9- 5- 7-
8 -

Exercise 5.6. Do the following sums, write them down in words and read them in Russian.
Russian words that you need to know:

plus (+) IUTIOC minus (-) Mpryc equals (=) 6);IIeT
Model: 10-5=5

IlecaTh MHHYC IISTh GyZIeT IaTh
9-7=
6+4=
3+ 7=
5-2=
10-8=
1+8=
9-4=
Exercise 5.7. Learn the names of the months and seasons in Russian
3MMa: IeKabph, SHBaph, (heBpah
[nukabp’]  [immBap’] [puspan’]
BECHA: Mapr, anpénb, Mai
[BHCHa]
HéTQ: I/II(;H]), I/II(;JH), éBI‘YCT
[nera]
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OCEHb: CEHTI0Pb, OKTIOpbh, HOSOPH

[ocun’] [cHuTSOP’] [akTSIOP’] [HAsOD']

Exercise 5.8: Insert the verb “a@TaTh” in the appropriate form:

| I TEKCT. 2. ThI ..ovvevi i poMaH.(a novel)
3MBL oo, KypHUL 4. OH ....ooooviiiiienn . MIUCHMO (a letter).
5.BBI ..ol oObgByeHHE. (anad). 6. A ........... ...l pacckas
(astory). 7. MBI .................. npaBwiIo (arule) . 8. BbI ..., IMHCBHMO.
9.0HA ...oooovviiiii, cj0Bapb (a dictionary).

Exercise 5.9: Insert the appropriate pronouns:

I........ YHTAEM POMaH. 2.. . YHTAI0 )KypHan K R qHTaeTe TEKCT.

4. .......... YHTACIIb ITHCHMO. 5 . UATaeT paCCKa3 6........ YHTAIOT
ynpa)KHeHHe (exercise). 7. ....... qHTACT IIpeI02KEHHUE (sentence).

8 it YHUTAIO MPaBUJIO.

Exercise 5.10: Conjugate the verbs in the following sentences:

1.4 HOBTOpHIO TEKCT. 2. 4 3Ha10 HpaBI/IJ'IO 3.4 HOHHMaIO npennoerHe
4.4 CITyImaio paﬂno 5. 4 oTBeuaw ypok. 6. S H3yUa0 PyCcCKHi A3bIK.
7. 91 06BsICHSIO npaBHno

Exercise 5.11: Answer the following general questions first in the affirmative and then in the
negative:

Model: Ter nonmwaemb Hpexulox(eHHe?
ITa, 1 HOHAMAIO TPEJIOXKCHHE.
Her, g He IOHAMAIO HpCIUlO)KCHHG.

1.On cny}maeT pai):[HO‘7 2. OHa unTaer HHCBM69 3. Onn HOBTopsiIOT TEKCT?

4. Ona qHTaeT )KypHan? 5. CTy,[[CHT 3HaeT pyCCKHH an(paBHT‘7 6. CTy,E[eHTKa
HOHHMaeT TEKCT? 7 AuHa u UBan H3yqa10T pyCCKHH S3BIK? 8 BbI IOHAMAaeTe TEKCT?
9. Bol citymraete panuo. 10. Bel untaere xypuan? 11. Tl 3HaeIb mpaBHiIo?

12. Tol oBTOpsiens ypok? 13. Bel moBTopsiete nuasor? 14. Yuuress o6bsicHIET
yde?
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Exercise 5.12: Answer the following general questions in the negative. Negate the underlined
word. Use the word in parentheses to clarify the response in the following sentence:

Model: 1. THI IOHAMAEIIb HpCIIJIO)KéHHC? (3HATB)
Her, 9 He HOHAMAIO Hpezmox(énne. S 3Ha10 npennox(é}me.
2. Thl HOHAMAeNIb IIpeUIoKeHne? (IIPaBHJIo)
Her, g HOHAMAIO He IpeUIoKeHHe, S IOHAMAIO IPABHJIO.

1. On CJIyLHaeT pagn 0? ( CTHXH) (poems) 2. OHa qHTaeT THCHMO (cnymaTbW

3. OHn NOBTOPSIOT TeKCT‘7 (qHTaTb) 4. OHa unTaeT }KypHa)ﬂ (pyccKHii anaBHT)
5. CT}’I[CHT 3HAET pyCCKHH andasuT? (aHFJIHHCKHH ancpaBHT)

6. CTy):[eHTKa MIOHUMAET TeKCT‘7 (3HaTh) 7. AuHa 1 Usau H3yqa}0T pyCCKHH A3BIK?
(brHAHCEI) 8 BbI TOHEMAETE TEKCT? (HpaBHJIO) 9. Bu CITyIIaeTe panxo 0? (pacckas)
10. Bor qHTaeTe ypHaﬂ‘7 (nnanor) 11. Thl3HACLIB HpaBHno7 (HOBTOpHTb)

12. Tol moBTOpsiews ypok? (oTBeuats) 13. Bol moBTOpsiete muanor? (aidaBHT)

14. YuuTenb o0bscHIeT YPOK? (IIPABHJIIO)

Exercise 5.13: Answer the following special questions using prompts given in parentheses in your
responses. Pay attention to the use of personal pronouns:

Model: Yro ThI 3HaeNIb? (IPABRIO ) (a rule)
51 3Ha10 MpaBHUIIO.

1. Yto ona unraer? (mucbMo) 2. Yto on ciaymaer? (panuo). 3. Yto cTyaeHThI
n3yuaor? (aadasur). 4. Kto monumaer tekct? (Mbi) 5. KTo moBropser Tekcr?
(CTyz[éHTKa) 6. Kto 3naer p};CCKHﬁ SI3bIK? (ceCTpai) 7. Yro BbI unTacTe? (zmandr)
8. Yro HayanOT AuHa 1 UBan? (puHaHCHI) 9. YTO THI qHTaeLHb‘7 (IpaBHJIO)

10. Yto ThI 3Haemb‘7 (HpaBHJ'IO) 11 Kto 06bsicHseT ypOK (quTenb)

12. Yto0 quTenb 00bsicHseT (ypoK). 13. Yto BbI H3yuaeTe (PyCCKHi S3bIK)

14. Yro BbI 3HaeTe? (pyccKHii andasur)
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